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a(n) ?

Question B C
Th ‘ i i
1 e term ‘Computer’is derived A. Latin B. German C. French D. Arabic
from ?
B. 1000 C. 1024 D. 1024
2 |1 Gigabyte is equal to ? A. 1024 bits .
- megabytes kilobytes megabytes
A. Wap Area B. Wide Area |C. Wide Array |D. Wireless
3 |WAN stands for ?
Network Network Net Area Network
Y ize files by storing th
4 inou can Orgam?ze fies by storing them A. archives B. folders C. indexes D. lists
5 |Junk e-mail is also called ? A. spam B. spoof C. sniffer script |D. spool
B. Datain
. D. ROM chips
ROM is non- C. ROM are easil
A.ROM volatile, that o Y
- . . .. ] provides very |swapped
What characteristic of read-only memory information is, it remains
6 i ) large amounts |between
(ROM) makes it useful? can be easily |there even ) . .
. of inexpensive |different
updated. without
) data storage. |brands of
electrical
computers.
power.
A. First B. Second C. Third D . Fourth
7 |IBM 1401 is ? Generation Generation Generation Generation
Computer Computer Computer Computer
A. Dennis M. |B. Niklaus C. Seymour D. Donald
8 |Who invented the high level language “C”? . ! . aad ymou
Ritchie Writh Papert Kunth
A fault in a computer program which prevents
9 |it from working correctly is known A. Boot B. Bug C. Biff D. Strap
as ?
10 |1 Byte = ? A. 8 bits B. 4 bits C. 2 bits D. 9 bits
The term designates equipment .. .
A. digital B. syst dd- D. heral
11 |that might be added to a computer system to .Igl 2 System a C. disk pack p.erlp era
. . ) device on device
enhance its functionality.
12 |What is the other name for programmed chip? |A. A. RAM B. ROM C. LSIC D. PROM
Store data or information
13 |temporarily and pass it on as directed by the  |A. Address B. Register C. Number D. Memory
control unit?
When creating a computer program,
_ B. System D. All of the
14 |the designs the structure of the |A. End user C. Programmer
5 Analyst above
program?
s The most common type of storage devices A. magnetic B. Flash C. optical D. Both A & B
are ? storage memory
A c.omputer‘system thatis old and perhaps not A. Ancient B. Historical C. Age old D. Legacy
16 |satisfactory is referred to as
system system system system
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Question
. The comm?n name for the crime of stealing A. Jacking. B. Identity . spoofing. D. Hacking.
passwords is ? theft.
i i D. Smart
. |s. the measu.rement of things . ‘ B. Bio C. Computer
18 |such as fingerprints and retinal scans used for |A. Biometrics . weapon
. measurement |security )
security access? machinery
D. Mother
19 |Cathode Ray Tube is a form of ? A. Keyboard B. Mouse C. Monitor board
A. Limited B. Logical Area |C. Local Area |D. Large Area
20 |LAN stands for ?
Area Network |Network Network Network
To display the contents of a folder in Windows . . . . D. giveita
21 Ispiay N WINGOWS A click on it B. collapse it |C. name it 8
Explorer you should: password
Fourth generation mobile technology provides
iliti i A. video data
enhanced capabilities aII9W|ng Fhe transfer-of B. voice and C. music and D. video and
22 |both data, including full-motion |and . . .
. . : . , ) non-voice video audio
video, high-speed internet access, and video information
conferencing.
When entering text within a document, the
23 |Enter key is normally pressed at the end of A. Line B. Sentence C. Paragraph |D. Word
every ?
Which of the followi i th . B. Dynamic
2q |1 MNEN OF NG TOTOWING MEMOTIES MUSLRE ) "gyatic RAM v C. EPROM D. ROM
refreshed many times per second? RAM
A
IC are classified on the basis ) B. Type of C. Number of |D. None of
25 Manufacturing .
of ? computer transistors these
company
Vect hics i d D. None of
26 | @ CCtOT BrAPNICS 15 compose A. Pixels B. Paths C. Palette
of ? above
Fil ted with Lotus 1-2-3 h
g7 |65 Created With LOTS avean A.123 B. DOC C. WK1 D. XLS
extension?
28 |In computer, ALU has ? A. 2units B. 3units C. 4units D. 5units
A. Data B. Data
SQL is a query language and has . i . C. Data control |D. All of the
29 definition manipulation
types ? language above
language language
D. Both A and
30 |Components of computer system are? A. Hardware B. Software C. Applications B
Who was the World first Computer A. Niklaus B. Ada ) D. Dennis
31 ) C. Bill Gates o
Programmer? Wirth Lovelace Ritchie
32 |Bitis also called A. Small B. Character C. Byte D. Binary Digit
. Programs designed to perform specific task is |A. System B. Application |C. Utility D. Operating
known as software software programs system
Shortcut key to double underline the selected B. Shift + Alt + |C. Ctrl + Shift + |D. Ctrl + Shift
34 ) A. Ctrl+ Alt+D
text is U U +D
A. Grade C. Guarantee |D. Global
L B. Global Post . .
35 |GPS stands for ? Positioning Svstem Positioning Positioning
System Y System System
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Question
Pressing F8 key for three ti lect D. A whole
36 | o8 ? ey forthree times selects A. A paragraph |B. A word C. A sentence page
5 Single sr?acn)g in MS'-Word document causes A 10 B. 12 C.14 D. 16
point line spacing?
38 |KB stands for ? A. Kernel Boot |B. Kit Bit C. Kilo Byte D. Key Block
A. Processor C. Pre D. Pre
B. Hypertext
39 |PHP stands for ? Hypertext Hypertext Processor
Preprocessor
Program Processor Hypertext
A. American ) C. Asian D. Asian
. B. American . .
Nation . National Nations
National
40 |ANSI stands for ? Standard Standard Standard
— . Standard . .
Instruction . Instruction Instruction
Institute
Codes Codes Codes
Which key i d to edit th lected cell i
a ich key is used to edit the selected cell in A F4 B. F10 C.F2 D. Edit
excel?
Which of the followi tains th trol .
42 'ch ot the 0_ eWIng contains the contro A. Program B. Help C.Run D. Settings
panel program in the start menu?
A network which is used for sharing data,
43 |software and hardware among several users A. WAN B. MAN C. LAN D. VAN
owning microcomputersiscalled ~~ ?
In Excel which key i d for f t b
aq || XCELWRIC key s used Torformat nUMBEr | 4| ohift+6 |B. Ctrl+Shift+4 |C. Ctrl+Shift+3 |D. Shift+1
in date format?
A. Graphic C. Graphic D. Graphic
P B. Graphic P P
45 |GIF stands for ? Interchangeabl i Interchangeabl |Internet
. Internet File
e File e Format Format
A. Sh
. ow B. Find C. Find files or
46 |Window key + F system D. Run
. Computers folders
properties
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In Microsoft PowerPoint Material consisting of . ] . . D. All of the
a7 ! 897 |A. bullet slide |B. table slide |C. title slide
text and numbers is best presented as: above
The output received on the display screen or in . D. None of
48 . . .
the audio or video form is called ? A.Hard Copy  B. Soft Copy C. Light copy these
B. to set C. to change D. All of the
49 |In MS-Word, for what does ruler help? A.tosettabs |, g
indents page margins |above
% What is the function of CTRL+O in Microsoft A. Save B. Print C. Close D. Open
Word? Document Document Document Document
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Question
Which of the following is not a type of page

required again.

needed again

51 . A. Right B. Center C. Left D. Top
margin?
L A. Customize |B. Auto text C. Options
in Microsoft Word the Text boundary can be .
52 | . . from Tools option from from Tools D. All of above
displayed or hidden from?
menu Insert menu menu
o Which option is not available in Insert Table A. Fixed B. AutoFitto |C. AutoFitto |D. AutoFitto
Autofit behavior in Ms Word? Column Width |Contents Column Window
Using Find command in Ms Word, we can D. All of the
sq |87 ! W A. characters |B. formats C. symbols
search? above
You wishe.d to jus.tify tc?xt over the h(?ight of A. From. B. Page Setup |C. Font from D. Paragraph
55 |paper, which option will you choose in Ms formatting ] from Format
from File menu Format menu
Word? toolbar menu
6 In Ms Word, On which toolbar can you find A. Formatting |B. Picture C. Drawing D. Standard
Format Painter tool? toolbar Toolbar Toolbar toolbar
F hich i t Head d |A. Format
57 | O W ¢ .menu youcan insert Header an B. View Menu |C. Tools Menu |D. Insert Menu
Footer in Microsoft Word? menu
What is the default font used in MS Word A. Times New . . D. None of the
58 B. Arial C. Algerian
document? Roman above
o What is the function of CTRL+O in Microsoft A. Save B. Print C. Close D. Open
Word? Document Document Document Document
o0 Ctrl + Y Shortcut is used in Microsoft Word A. Undo the B. Repeat the |C. Delete the |D. Delete the
to ? last Action last Action last page first page
D. Moves the
) ] ] A. Moves the |B. Movesthe |C. Moves the
“Ctrl + Right Arrow” Shortcut key is used in Ms cursor one
61 cursor one cursor end of | cursor end of
Word to ? ) . Paragraph
word right the line the document
down
Bef i h . .
© ore mo.vln.g a subdocument to another . |B. Outline C. Web Layout |D. Print Layout
62 |location within a master document, you must |A. Normal View|. . . )
. View View View
switch to ?
Which feature is used for monitoring all A. Edit B. Monitor C. Track
63 D. Track all
document changes? Document Change Change
A wireless technology built in electronic
64 |gadgets used for exchanging data over short  |A. Bluetooth |B. Wifi C. Modem D. USB
distances is?
A. The textis |B. The textis
deleted from |hidden and
] ) C.Thetextis |D.Thetextis
in Ms Word, What happens if you mark on document and |you need to )
) _ . deleted and hidden and
65 |Hidden check box of Font dialog box after you |you need to bring it by
: ) cannot be cannot be
select some text? bring from removing the
. . returned back |returned back
Recycle Bin if |check box if

66

Which of the following helps to reduce spelling
error in the document?

A. Auto Format

B. Auto Correct

C. Smart Tags

D. Auto Text
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Question
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F h S di D. None of
67 r?m WhEre you can access save commandin Home tab B. Insert tab C. Review tab
Microsoft Word? above
To verify that the note text is positioned
68 |correctly on the page, switch to A. normal B. print layout |C. page layout |D. page edit
view or display the document in print preview
What is the default left ins i d 2003
o at is the default left margins in wor A1 B. 1.25 C 15 D.2
document?
Ms Word includes a series of predefined
70 |graphics called that can be inserted |A. clip art B. hyperlinks  |C. captions D. bookmarks
into a Word document.
Which key deletes the character to the right of
71 I y. '8 A. End B. Backspace |C. Home D. Delete
the cursor in Ms Word?
To exit from the Resume Wizard and return to
thed t wind ithout ti
7 € ocumen Window withou® crea |r.1ga A. Cancel B. Back C. Next D. Finish
resume, click the button in any
panel in the Resume Wizard dialog box.
A is not attached to an edge of the
Word window; that is, it displays in the middle |A. floating C. status
73 . .
of the Word window and can be moved toolbar B. scroll bar toolbar D. menu bar
anywhere in the window
Ctrl +J Shortcut key i din Mi ft Word B. Insert
7a | orteut ey s used in MIcrosott wor A. Align Justify . C. Search D. Print
to_ 2 Hyperlink
Which of the following is not essential A Main
75 |component to perform a mail merge ' B. Data source |C. Merge fields |D. Word fields
. document
operation?
When you save a file as a Web page, Word
76 |converts the contents of the document into A. Java B. Perl C. HTML D. Unix
Although it is not shown in normal view, to
77 |view a header, click onthe menu |A. View B. Edit C. Format D. Tools
bar and then click Header and Footer.
_ A. linch top i C.1.25inches
By default, your document prints B. a portrait ) D. all of the
78 | and bottom . ) left and right
with ? i orientation . above
margins margins
When typing in a word field manually, what .
79 ypmginaw aty A.Ctrl+F6  |B.Ctrl+F9  |C.Alt+F11  |D.Shift+F12
must you press to insert the code’s brackets?
B. right click
. 8 C. edit the D. edit the
A. double click |worksheet . .
What would you do when you want to update . data in the data in the
80 } the worksheet |range object & N
the data in an embedded worksheet range? . destination source
range object |choose format
. document document.
object
who invented the difference engine and B. Mark C. Charles
81 . ) & A. Vint cerf D. None
analytical engine? zukerberg Babbage
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Question
A. Click the not
i i i i do move
After‘movmg a C|I‘p art image t.o a par‘tlcular . B. Click on the |C. Click on
82 |location on the slide, you can immediately object D. All of above
. . undo button |redo button
reverse the action using the ? command on
the edit menu
Which option on the custom animation task . C. Animate D. All of the
83 |pane allows you to apply a preset or custom  |A. Add effect |B. Emphasis
) now above
motion path?
o Which of the following allow you to select A. Alt + Click B. Shift + drag |C. Shift + Click |D. Ctrl + Click
more than one slide in a presentation? each slide each slide each slide each slide
to preview a motion path effect using the A. click the B. click the C. double click
85 |custom animation task pane, you ’ show effect the motion D. all of above
play button
should ? button path
C. From Slide
B. From Slide
Show menu
. . . Show menu
86 |To start slide show of a presentation? A. Hit F5 key ) choose D.Botha &b
choose View
) Rehearse
Show option .
timing
. . . C. Slide
o Which of the following can you use to add A.Slice Show |B. Rehearse transition D. All of the
times to the slides in a presentation? menu timing button above
button
The arrangement of elements such as Title and
88 |Subtitle text, pictures, tables etc. is A. Layout B. Presentation |C. Design D. Scheme
called ?
Which is th iew f i . .
ich is the best view o_r getting your A. Outline B. Notes page |C. Slide sorter . .
89 [thoughts for a presentation out on the . . . D. Slide view
view view view
computer?
After choosing a prede.fme A. Design B. Color C. Animation
90 [template option has to be chosen to ; lat h h D. Color effects
change a background color in Ms PowerPoint? emplate scheme >cheme
Which function calculates the largest value in a
91 8 A. Average B. Count C. Minimum D. Maximum
set of numbers?
In Ms Excel, which of the following special .
92 . N sp A. Shift B. Esc C. Tab D. Space
function keys allow the content in cell?
The Hypertexts are documents linked to one ] .
93 yp A. Pointers B. Variables C. Stacks D. Arrays
another through the concept of ?
D. Aug 20,
94 |Google was founded on ? A. Sept 4, 1998 B. Mar 6, 1998 |C. Jan 14, 1998 1998 8
Which of the followi isters i dt . D. Memor
ich o the Tollowlng registers Is Uise o. A. Program B. Memory C. Instruction Y
95 |keep track of address of the memory location . . Address
. . Counter Data Register |Register .
where the next instruction is located? Register
Google is an multinational
9% & A. American B. Indian C. Italian D. German
technology company? Page 6 of 71
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Question
I t dsheet, first part of A. Positive B. Negative
g7 | @ COMPUTET Sprea S eet, st part o 8 C. Zero values |D. Text values
number format describes ? number number
Which file is responsible to start MS Power . D. None of
98 . A. ppt.exe C. Mspoint.exe
point? Powerpnt.exe these
99 |Angular is framework of ? A. Php B. javaScript | C. Python D. None
100 Arrangement of keys on keyboard is A. Home B. Qwerty C. Basic D. General
called ? arrangement |arrangement |arrangement |arrangement
Which ti t dt ist
101 I gfeneré 10N COMPUTETS USEC Transistors 5. Fourth B. Third C. Second D. First
for the first time?
C. Audioand |D. All of the
102 |Website is a collection of ? A. web pages |B. Graphic Files
Pag P Video Files Above
Who was the first to introduce the punch card C. Herman
103 P A. Powers B. Pascal ) D. Jacquard
? Hollerith
The communication protocol used by Internet
08| onP y A. HTTP B. WWW C. TCP/IP D. FTP
To copy a picture of the screen to the ) ] D. None of
105 A Alt K B. Shift k . Print screen
Clipboard use: Command? tKey Shift key C. Print scree these
B. Charles D. Augusta
106 |Who is the father of Computer? A. Allen Turing C. Simur Cray g
Babbage Adaming
The brain of any computer system .
107 is 5 A. ALU B. Memory C.CPU D. Control unit
C. D.
Supercompute Supercomputer
rs are focused |s are focused
to execute to execute as
A. Super B. Super
i few programs |many
computer is computers are
. o as fast as programs as
What is the main difference between a much larger much smaller ) . ) .
108 . possible while |possible while
mainframe and a super computer? than than . .
) . mainframe mainframe
mainframe mainframe ) .
uses its power |uses its power
computers computers

to execute as
many
programs
concurrently

to execute few
programs as
fast as
possible.
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Question

What type of resource is most likely to be a

C.Flo disk
109 |shared common resource in a computer A. Printers B. Speakers i PPy D. Keyboards
drives
Network?
C. may legally
break into D. are people
B. break into Peop
. o ” A. all have the ,_|computersas |who are
110 |which statement describe “Hackers”? . other people’s .
same motive long as they allergic to
computers
do notdoany |computers
damage
A. operating . .
What do you call the programs that are used ) C. diagnostic |D. boot
111 . . . system B. cookies .
to find out possible faults and their causes? . software diskettes
extensions
) . ) B. Vacuum
Chief component of first generation computer ) C. Integrated |D. None of
112 A. Transistors |Tubes and N
was ? Circuits above
Valves
Per.sonhel who design, Program, operate and A. Console- D. System
113 |maintain computer equipment refers B. Programmer |C. Peopleware
to 5 operator Analyst
A self replicating program, similar to a virus
which was taken from a 1970s science fiction
114 A. Bu B. Vice C. Lice D. Worm
novel by John Bruner entitled the Shockwave g
Rider is ?
The device used to carry digital data on . D.
115 . v g A. Modem B. Multiplexer |C. Modulator
analogue lines is called as ? Demodulator
A is a microprocessor -based A. personal
116 - ) P P B. mainframe |C. workstation |D. server
computing device? computer
11 On-line real time systems become popular A. First B. Second C. Third D. Fourth
in generation? Generation Generation Generation Generation
A. Operatin
118 |Select the Odd one from the following P & B. Interpreter |C. Compiler D. Assembler
system
Computers process data into information by ) .
119 . . . A. multimedia |B. word C. numbers D. characters
working exclusively with ?
A device that connects to a network without _ . D. none of
120 . A. Distributed |B. free C. centralized
the use of cables is said to be ? these
121 |Which of the following is not a binary number? |A. 001 B. 101 C. 202 D. 110
Collecting personal information and effectively B. Identit
122 |posing as another individual is known as the A. Spooling. tl;eft ¥ C. Spoofing. D. Hacking.

crime of ?
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Question
. . D. Access-
What is the most common tool used to restrict . C. Computer
123 A. User logins |B. Passwords control
access to a computer system? keys
software
computer is a medium sized
124 P z A. Micro B. Mainframe |C. Super D. Mini
computer?
are set of rules and procedures
125 |to control the data transmission over the A.IP address |B. Domains C. Protocol D. Gateway
internet?
The CPU ises of Control, M A B.
e comprises of Control, Memor . ) )
126 P . y ) Arithmetic/Log |C. Output D. ROM
and units? Microprocessor ic
127 |Which of these is a point and draw device? A. Mouse B. Scanner C. Printer D. CD-ROM
Which of the following softwa.re could assist A Video B. Speech C. Audio .
128 'someone who cannot use their hands for . . L D. Synthesizer
. conferencing |recognition digitizer
computer input?
What do you call the translator which takes
129 |assembly language program as input & A. Compiler B. Interpreter |C. Debugger D. Assembler
produce machine language code as output?
What ter virus holds th df
130 ‘a compu erv‘lrus olds the recor ,or A.lLove You |B.Nimdad C. Melissa D. Christmas
being the most widespread computer virus?
131 | Shortcut key for Change case is ? |A. Shift+F3 B. Ctrl+Shift+F3|C. Ctrl+F5 D. Ctrl+Alt
H heet there in Excel Workbook
13, |HOW many sheets are there in Excel Workboo A2 B.3 ca D.5
by default?
133 |Android was founded in ? A. 2005 B. 2003 C. 2004 D. 2006
Which of the following i -availabl
134 | nich Of the Toflowing Is non-avarable A. RAM B. Register  |C. DRAM D. PROM
memory?
Which | does MS-Word t t D. None of the
135 Ich langliage does ora use to create A. Visual C++ |B. Visual Java |C. Visual Basic
Macros? above
Which shortcut key i df lculati
136 | C SNOTECUR KEY IS USETTOT CAleUiating 1A ctrl+F9 B. Shift+F9  |C. F9 D. F7
current sheet in Ms Excel?
o C. Search
137 |Website is a A. Data B. Address ) D. None
engine
138 Which of the following is machine A. High level |B. Low level C. Assembly D. Machine
independence program? language language language language
A. Network
. B. Network C. Network D. Network
139 |NIC stands for Information ,
Identity Card |Interface Card |Internet Card
center
Physical struct f ter is called
10 | YICAS rus ure of computers catle A. Software B. Hardware |C. Human ware |D. All of these
e . . C.
141 |Which file is responsible to start MS word? A. Win.exe B. Word.exe . D. None
Winword.exe
What is th llest width of I in MS
- at is the smallest width of a column in A 0" B. 0.5" c 1 D.1.5"
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Question B C
. Fil D. First
A. Fix Transfer |B. File Transfer C. File I"s
143 |FTP stands for ? Transfer Transfer
Protocol Procedure
Protocol Protocol
142 | CRT stands for 5 A. Crystal Ray |B. Cathode C. Cabin Ray D. Carbon Ray
- Tube Ray Tube Tube Tube
A. Competent |B. Commonl D. Commonl
P y C. Commonly y
Operated Operated Operated Operated
Machine Machine Mrz)achine Machine
Particularly Particularly . Particularly
145 |COMPUTER stands for ? Particularly
Used for Used for Used for
) . Used for Trade )
Technical Technical i Technical
) ] Education and
Education and |Education and Electron and
Research
Research Research Research
A Fi B. Physical C. Logical
146 | The hardware parts of computer are ? rmware ysica ogica D. All of these
components |components |components
47 Which of the following shortcut key is used to A Crt+F3 B F4 C. Shif+F4 D. Alt+F4
close the program?
The speed of communications between any
D. Both A and
148 |two devices on the Ethernet LAN is A. 10 Mbps B. 100 Mbps  |C. 10000 Mbps B
?
In Excel which key i dforf t b
149 || SXCE1 WRICh KEY IS USECTOTTOrmAt UMBET |\ "4 14Shift+6 |B. Ctrl+Shift+3 |C. Ctrl+Shift+5 |D. Ctrl+1
in percentage format?
150 | DSL stands for 5 A Disc Super |B. Dlglfal ' C. Dlglti.ﬂ D. DISC. .
- Line Subscriber Line |Super Line Subscriber Line
. Sh
. A. Windows C. Show D. Lock
151 |Window key + L B. Help Desktop
Explorer Desktop
(toggle)
C. A method
A. A type of B. A method of ]
. . o i ) , i of moving D. All of the
152 |What is a motion path in Microsoft PowerPoint |animation advancing .
. items on a above
entrance effect |slides )
slide
The keys on the top of keyboard as F1, D. Function
153
2 F12 are called ) A. Enter keys |B. Lock keys C. Insert keys keys
154 Which menu in MS'Word can be used to A View B. Tools C. Format D. Data
change character size and typeface?
A. Open B. Open Page
What is the function of CTRL+P in Microsoft P P . 8 C. Open Save |D. Open Print
155 Paragraph Format Dialog | . .
Word? ] Dialog Box Dialog box
Dialog Box Box
. A. Page .
156 |Portrait and Landscape are ? ) ] B. Paper Size  |C. Page Layout |D. All of above
Orientation
157 MS Offlcc.e provides help in many ways, which A Help menu  |B. What is this? C. folce D. All of the
of these is one of them? Assistant above
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Question
D. To quickl
A bookmark is an item or location in document |A. To mark the . d y
_ . ) B. To add C.To add jump to
that you identify as a name for future ending of a . . . e
158 . . : anchors in hyperlinks in  |specific
reference. Which of the following task is paragraph of b b | L.
accomplished by using bookmarks? document Web page webpage ocation in
document
Which bar is usually located below that Title
159 | Bar that provides categorized options in Ms A. Menu bar |B. Status Bar |C. Tool bar D. Scroll bar
Word?
Which of the following command is not A. Auto
160 . . & . ) B. Macro C. Auto correct |D. Auto text
available in Tools menu in Ms Word? summarize
B. Click the
] ) C. Click the
A. Double click [format painter i
Format painter
What should do if i ting th the format then go on and go on
at sho ou do if you require pasting the ] .
161 ! y ) yourequire p 8 painter then |pasting to g i D. All of above
same format in many places? . pasting in
go on pasting |many places
) . many places
in many places |holding Ctrl

Lo ST L L5 A
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holding Alt Key
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What is the shortcut-key for manual line break B. Alt + Enter ] D. Space +
162 | Y A. CTRL + Enter C. Shift + Enter P
in Ms Word? Enter
Which tab in Font dialog box contains options B. Standard D. Character
163 8 P A. Text Effects C. Font tab )
to apply Font effects? Toolbar Spacing
A. Open B. Open Page
What is the function of CTRL+P in Microsoft P P . 8 C. Open Save |D. Open Print
164 Paragraph Format Dialog | _. )
Word? . Dialog Box Dialog box
Dialog Box Box
D. Paste the
Ctrl + Z Shortcut is used in Microsoft Word A. Undo the B. Redo the C. Add the
165 . . contents from
to ? last Action last Action new page ]
clipboard
A. Moves the
W . , _ B. Moves the |C. Moves the |D. Moves the
Ctrl + Down Arrow” Shortcut key is used in cursor one )
166 cursor one line |cursor one cursor one
Ms Word to ? paragraph
down page down screen down
down

167

Before creating a master document in Ms

A. Normal View

B. Outline

C. Web Layout

D. Print Layout

Word, you must switch to ? View View View
168 Which is an Office feature that makes it easy A pastin B. visual C. tools, D. edit. links
to edit embedded objects? P B editing update, links ' ’
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Question B C
169 |Latest MS Windows is ? A. Windows 8 |B. Windows 16 |C. Windows 10 D. Windows 7
Which tab in Font dialog box contain options B. Character D. Standard
170 ) & P A. Font tab ) C. Text Effects
to apply font effects in Ms Word? Spacing Toolbar
A Word field may consist of an optional field A.sub ;
171 |, ) y P B. symbol C. signal D. switch
instruction called a(n) ? document
When Word flags a possible spelling or
rammar error, it also changes the mark on B. green check D. red check
172 |8 ] & . A. green X g C.red X
the Spelling and Grammar Status icon to a mark mark
With which view can you see how text and
173 | graphics will appear on the printed page in A. Normal B. Print Layout C. Outline D. Web Layout
Word Document?
Which of the following is graphics solution for )
174 g 1> grap A. Clip art B. Word art C. Drop cape |D. All of above
word processors?
D. All Caps on
C. Change Font diaIF())
A. Both are . Case makes &
B. It is faster to . box makes the
Uppercase on Change Case dialog box and All  |[samE. They conversion
) convert from change
Caps on Fonts dialog box both converts are only two permanent
175 i i , . Change Case permanent
selected text into Capital Letters. What's the | different ways but All Caps
) o than from where Change
difference between the two? of capitalize ) on Font can
Font dialog box Case can be
text. always be
always
reverted
reverted
By default, Word automatically formats each B. cross-
176 |heading in a table of contents as A. bookmarks ) C. hyperlinks |D. word-fields
5 references
Which of the following is not the Section Break B. Previous
177 L & A. Next Page C. Odd Page D. Even Page
Option in Ms Word? Page
The is a short horizontal line A. insertion C. status
178 | T ) . B. end mark L D. scroll box
indicating the conclusion of a document. point indicator
. o B. create the |C. set the
Which of the following is not one of the three |A. merge the i . D. create the
179 |, , ) main mailing list
Mail Merge Helper’ steps? two files data source
document parameters
The ability to combine nam'e and addresses A document B. database -
180 |with a standard document is called ) C. mail merge |D. form letters
5 formatting management
B. floats over |C. Home tab
A. upper-left |yourtextand |anduseit
) ] corner and use it when when you
Where is the quick Access Toolbar and when ] D. None of
181 . use it for your |you need to need to
should you use it? . ) above
favorite make quickly launch
commands formatting or start new
changes document
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Question
What is the tool in Word that copies only the

C. Format D. Paste
182 |format of selected text so that you can apply |A. Copy B. Paste . .
Painter Special
on other text?
What do you call ‘a collection of character and .
183 Y . , A. the defaults |B. atemplate |C. astyle D. a boilerplate
paragraph formatting commands’?
Which key i dtoi left indentin M
1gq | CT KEV IS UsEA RO INCTEase e MAENt IS 1A Ctrl+l B. Ctrl+M C. Alt+l D. F10
Word?
In M‘S-Word to hlghllght text, line or any A Different
185 |particular informative paragraph, we B. Background |C. Shade D. Font Effects
Font Color
use: ?
. ) A. MarcianE |B. Herman H C. Joseph D. All of the
186 \Who invented the microprocessor ? .
Hoff Goldstein Jacquard above
A. Clicking the
_ 8 B. Clicking the |C. Clicking the
insert new . .
) insert insert
slide button . .
) . Microsoft Microsoft
You can embed a Microsoft Word tale in a on the
187 | word table word table D.Aandc
slide by ? standard
button on the |button on the
toolbar, then .
. formatting standard
double clicking
toolbar toolbar
table
Which of the following features should yo . .
188 ' . .WI & ! widvo A. Slide show |B. Insert C. Slide maser |D.Zoom
use when typing in the notes text box?
The P Point view that displ ly text B. Slide sorter |C. Notes page |D. Outline
189 .e owerPoin v!ew at displays only tex A Slide show . : pag :
(title and bullets) is ? view view view
C. Clicking the
insert new
slide button
D. Clicking the
the standard MS
A. Clicking the |B. Clicking the |toolbar, then .
— . . . . Organization
You can embed a MS-Organization Chartina |object object double click
%0 | Chart button
slide by ? command on |command on |the
. . o on the
the edit menu |the edit menu |organization
standard
chart button
toolbar
on the
formatting
toolbar
101 The effect applied to display when slides A. Slide B. Custom C. Custom D. Slide
changes in slide show view is ? |Animation Animation Transition Transition

Page 13 of 71




192

TestPoint.pk

Question

To give a PowerPoint presentation to a large
audience, you: ?

A. Set up your
computerina
large
auditorium,
and click large,
auditorium, OK

B. Click the
slide you wish
the audience
toseein
normal view,
then click the
next slide, and
so on.

C. Choose
either view,
slide show or
slide show,
view show

D. Slick slide
show, OK

193

Which of the following statements is not true?

A. Holding
down the Shift
key while you
draw an object
creates perfect
squares,
circles and
straight lines

B. The text in
a text box
can’t be
formatted

C. The drawing
toolbar
contains tools
for drawing
shapes, lines,
arrows, and
more

D. Ctrl+S save
the document

B. Printing the |C. Linking a
speaker’s slide
Which of the following is not a feature of A. Printing P " D. Drawing
194 ) , notes along transition )
PowerPoint? transparencies | . . ] with a pen
with slide with a laser
images pointer
Which of the following is the slowest in L . . D. Magnetic
195
accessing data? A. Zip disk B. Hard disk C. Floppy disk disk
Ms Word offers the diff tvi f
196 | 110 v OTa OTTers the difierent views ot a A. Two B. Three C. Four D. Five
document?
Inth il dial box Bcc i d f B. Email C. Phone
107 M : .e email dialogue box Bcc is used for A. Subject D. Names
writing the ? Address Numbers
198 Combination of two or more topologies are A. Hybrid B. Star C. Bus D. Ring
called ?
199 |1 nibble equals to ? A. 12 bits B. 16 bits C. 4 bits D. 2 bits
D. None Of
200 |What is Fisheye degree view? A. 90 Degree |B. 180 Degree |C. 360 Degree Above
A.) D.N Of
201 |Who is The First You Tuber? _awed B. John adris  |C. Liagat Ali one
Karim These
Actual ki fC ter’s Mi ft
202 Eic:?iswor "8 are?a ort-omputers MIcroso A. Workbook |B. Worksheet |C. Notesheet |D. Notebook
Which basi I di t
203 ic . asic colors are used in computer A GOB B. RWG C. RGB D. BGB
graphics?
Th llest unit of data i t
204 N € smatles u?m ik b A. Bit B. Kilobit C. Terabyte D. Byte
205 |What is the capacity of a two sided DVD? A. 8.8 GB B.9.2 GB C.10GB D. 9.4 GB
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Question

In which generation of computers operating

206 o A. 1st B. 2nd C.3rd D. 4th
system was used for the first time?
207 |In MICR, C stands for ? A. Code B. Color C. Character D. Computer
In MS Excel to delete duplicate values which
208 , P A. Data B. Tools C. Formatting |D. Layout
menu is used?
C. Electronic
A. Messagin
209 |E-mail Stand for ? . .. |B. External mail i gIng D.Both Aand C
Electronic mail Advice and
Information
210 |Shortcut keys to switch to the next windows ? |A. Alt + tab B. Shift + Tab  |C. Alt + Ctrl D. Ctrl + Tab
11 The basic operations performed by a computer |A. Arithmetic |B. Logical C. Storage and |D. All the
are ? operation operation relative above
C. Arithmetic
] ) A. Arithmetic |B. Arithmetic . .
Which of the following are components of . . . . logic unit, D. Control
212 ) - logic unit, logic unit, . .
Central Processing Unit (CPU) ? . Integrated Unit, Monitor
Mouse Control unit o
Circuits
is called the father of mod ¢
is called the father of modern . .
213 |7 A. Leibnitz B. Blaise Pascal |Charles Babbag D. J.H Muller
digital computer?
e
Which device is required for the Internet . .
214 I . vice s reqdl A. Joystick B. Modem C. CD Drive D. NIC Card
connection?
What t f t lient t B. Mini c.
a e of computers are client computers . -
215 vp ) p , P A. Mainframe Microcompute [D. PDA
(most of the time) in a client-server system? computer
Which programming languages are classified  |A. BASIC, D. Assembl
216 'ch prog ng languag ' B. Prolog C.C, C++ ¥
as low level languages? COBOL, Fortran languages
)17 Second Generation computers were A. 1949 to B. 1956 to C. 1965 to D. 1970 to
developed during ? 1955 1965 1970 1990
An error in software or hardware is called a
218 |bug. What is the alternative computer jargon |A. Leech B. Squid C.Slug D. Glitch
forit?
Unwanted repetitious messages, such as 0 .
219 .. P o & A. Spam B. Trash C. Calibri D. Courier
unsolicited bulk e-mail is known as ?
A. Basic Input |B. Binary Input |C. Basic Input
220 | BIOS stands for ? P yinp P D. all the above
Output system |output system |Off system
RAM be treated as th f B. operatin C. waitin D. plannin
121 can be tea ed as the or A. factory p g g p g
the computer’s processor? room room room
You use a(n such as a keyboard  |A. output C. storage D. processin
222 (n) - : ) ¥ } P B. input device ) & p. &
or mouse, to input information? device device device
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Question
A i dditional set of
15 an add I,Ona St o ) C. menu D. All of the
223 |commands that the computer displays after A. dialog box |B.submenu )
. . selection above
you make a selection from the main menu?
Computers manipulate data in many ways, and . ] . e
224 A. upgradin B. processin C. batchin D. utilizin
this manipulation is called ? Pe g P & g g
A person who used his or her expertise to gain
access to other people’s computers to get C. instant
225 | L peop P , & A. Hacker B. spammer D. programmer
information illegally or do damage is messenger
a ?
Which of the following does not store data . .
226 & A. ROM B. RAM C. Floppy Disk |D. Hard Disk
permanently?
227 |Malicious software is known as ? |A. Badware. B. Malware. . D. lllegalware
Maliciousware.
Hard ft designed t d .
ar‘ ware orso Yvare esigned to guar A. Hacker- . C. Hacker- D. Encryption
228 |against unauthorized access to a computer B. Firewall )
. proof program resistant server |safe wall
network is knownasa(n)  ~?
229 computer are of large size? A. Micro B. Mainframe |C. Super D. Mini
A. Node C. Network D. Non-
230 |NOS stands for ? operatin B. Non-open Operatin operatin
' P 8 software P & P &
system system software
A(n) appearing on a web ]
231 . A. anchor B. URL C. hyperlink  |D. reference
page opens another document when clicked.
A set of rules for teIIing the computer what A. procedural C. natural D. .
232 |operations to perform is called B. structures programming
language language
a ? language
D. Central
_ . .. |C. Output .
233 |Memory unit is one part of ? A. Input device |B. Control unit device Processing
Unit
D. Data
C. Each stored
] ] ) A. Data B. Short access ) naturally
Serial access memories are useful in . . . word is
234 o consists of time is needs to flow
applications where: . processed ] .
numbers required . in and out in
differently .
serial form
Process of loading and fixing or bypassing C
235 |errors in computer program code is A. Debugging |B. Defusing ' . D. Defrosting
Defragmenting
called ?
Rearranging data in a new sequence is known . . . ..
236 as ging , g A. Uploading |B. Updating C. Sorting D.Summarizing
A. Nolan C. Thomas J.
237 |Who is the founder of IBM Company? B. Steve Jobs D. Bill Gates
Bushnell Watson
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Question
How many ways you can save a document in

238 . . . .
Microsoft word? A.3 B.2 .1 D.5
239 | MS-Access is program for ? A. Presentation . |C. Calculation |D. Data Base
Documentation
B. File
A. File Transfer C. File Transit |D. None of
240 |FTP stand for ? Transfer
Post Protocol these
Protocol
Which technol id lution for PC B. Server C. Terminal
21 | IC ‘ EC. nology provides a solution Tor A. Hyper-Visor . . D. RAID
virtualization? Clustering Services
D.
A. Algorithmic |B. Adapter C. Application
g P PP . Accellerated
242 | API stands for Protocol Protocol Programming )
Programming
Interface Interface Interface
Interface
A. Personal B. People’s
. . . P C. Personal D. People’s
243 |PDA stands for Digital Digital . .
. . Data Assistant |Data Assistant
Assistant Assistant
™ Which generation of computer is still under A. Fourth B. Fifth C. Sixth D. Seventh
development? Generation Generation Generation Generation
24 The effect applied to display when slides A. Custom B. Slide C. Slide D. Custom
changes in slide show view is ? Animation Animation Transition Transition
A.Very Large |[B. Very Large D. Very Low
yLarg ylarg C. Very Large Y
246 | VLS| stands for ? Scale Scale Scale
L . Scale Industry L
Immunisation |Integration Immunisation
WhatsA founded in 2009 C. Mark
247 atsApp was founded n A. Brian Acton |B. Jan Koum D.BothA &B
by: ? Zuckerberg
C. Byte ma D. Bit ma
248 |BMP stands for ? A. Byte map B. Bit map y P P
process process
A. Printed B. Public C. Portable D. Published
249 |PDF stands for ? Document Document Document Document
Format Format Format Format

ES

VI f f g Li TSI /;51 s Ll TUt %

Polnt.PK

250

MODEM stands for ?

A. Modulation
And
Demodulation

B. Modulator
And
Demodulator

C. Modulator
And Electronic
Demodulator

D. Modulator
Or Digital
Electronic
Demodulator

251

Which of the following basic action is
performed with the help of mouse in the
word’s environment?

A. Double click

B. Drag and
point

C. Single click

D. All of these
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A. Joint Photo

B. Joint Picture

C. Joint

D. Joint

and Paragraph
Space)

Document

confirmation

252 |JPEG stands for Electronic Electronic photographic |Picture Expert
Group Group experts group |Group
A. Basic All B. Beginners | C. Beginners D. Beginners
Purpose All Purpose All Purpose Anti Purpose
253 | BASIC stands for Symbolic Symbolic Symbolic Symbolic
Instruction Instruction Intelligent Instruction
Codes Codes Codes Codes
In Excel which key is used for format number . . . .
54| A. Ctrl+Shift+6 |B. Ctrl+Shift+3 |C. Ctrl+Shift+5 |D. Ctrl+Shift+4
in scientific format?
A. Portable C. Project D. Plain
B. Portable
255 |PNG stands for Network Network Network
. Network Group . .
Graphic Graphics Graphics
. Sh
. A. Find B. Find files or C. Show
256 |Window key + Ctrl + F Desktop D. Run
Computers folders
(toggle)
C. Aslide
i B. A slide !
A. The title master and
] o o master and ]
What is a Slide-title master pair in Microsoft area and text . title master
257 . title master . D. All of above
PowerPoint? area of a i for a specific
e 1 merged into a )
specific slide ) . design
single slide
template
. . . D. None of
258 | The Speed of CPU is measured in ? A. megahertz |B. gigahertz C.BothA&B these
Which key should be pressed to start a new A. Down .
259 . . .
paragraph in MS-Word? Cursor Key B. Enter Key C. Shift + Enter |D. Ctrl + Enter
A. Paragraph
g. P B. Close Word |C. Print Whole
) ) o formatting L
What is the function of CTRL+Q in Microsoft . Application Document D. Does
260 (Line Space . . . .
Word? without saving |without nothing

document

261 | Which of the following is not a font style? A. Bold B. Italics C. Regular D. Superscript
B. Merge the
. o A. Sort the two files to . D. Format a
Which of the following is not of the merge i C. Edit a data .
262 A data source print or create main
process in Microsoft Word? source
records a new document
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Question B C
B.To C.To begin a
automaticall aragraph
] ] A. To drop all . Y p' grap
ses Why Drop Caps are used in document in Ms the capital begin each with a large D. None of
Word? Iettersp paragraph dropped above
with capital initial capital
letter letter
B. Update the |C. Close the
What is the function of CTRL+R in Microsoft A. Open the P D. None of
264 ) ) current Web  |current
Word? Print dialog box . these
page window
B. Clicking with
ses In Microsoft Word, You can jump to the next  |A. Press Alt + |your mouse on |C. Both of D. None of
column by ? Down-arrow |the next above Above
column
Which of the following line spacing is invalid in . . .
266 . . . .
Ms Word? A. Multiple B. Double C. Triple D. Single
Whi i
ich feature hel.ps you to inserts ’Fhe A. Paste B. Format
267 |contents of the Clipboard as text without any Special Paint C. Page Setup |D. Styles
formatting in Ms Word? pecia ainter
D. Select the
A. From
text then
Format menu |B. Goto
choose
choose Font Format menu Format >>
option and and then Font |C. Click double Font and on
If you need to Double Underline a Word, how |then from option. Open |underline tool
268 | ) ) Font tab open
will you do that? Font tab open |Underline on formatting )
i Underline
Underline Style and toolbar
Style and
Style and choose Double
i choose
select Double |Underline
Underline Double
Underline
A. Paragraph
g. P B. Close Word |C. Print Whole
) ) o formatting L
260 What is the function of CTRL+Q in Microsoft (Line Space Application Document D. Does
Word? P without saving |without nothing
and Paragraph . )
Document confirmation
Space)
, o A. Moves the |B. Moves the |C. Movesthe |D. Moves the
Page Up Keyboard Key is used in Microsoft .
270 Word to 5 cursor one line |cursor one cursor one cursor one
’ up screen up page up paragraph up
A. Moves the D. Moves the
] ) B. Moves the |C. Moves the
“Ctrl + Left Arrow” Shortcut key is used in Ms  |cursor cursor one
271 . cursor one cursor one
Word to ? beginning of word left aragraph U paragraph
the Line paragraph up down
Using the ribbon where should you go to A. View >> . C. View >> D. Insert >>
272 . B. File >> Open
activate the ruler on your Document? toollpage 19 of 71 Ruler Reference
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Question
. . . C. tools,
Which would you choose to display the A. tools, word |B. insert, ) D. tools,
273 o . spelling and .
statistics about a document? count statistics statistics
grammar
Which Shortcut keys are used to strikethrough D. None of the
24| 0 i BN A Ctri+4 B. Ctrl+5 C. Ctrl+6
highlighted selection in Excel? above.
Which of the following can be used to divide a C. table of D. none of the
275 i A. frames B. theme
web page into Areas? contents above
To use your keyboard instead of the mouse to
276 |select tools on the ribbon, you display the Key |A. Alt B. Ctrl C. Shift+Enter |D. Alt+Enter
Tips by pressing the key?
A. Paragraph
g' P B. Close Word |C. Print Whole
_ S formatting L
- Ctrl + Q Shortcut is used in Microsoft Word (Line Space Application Document D. Does
to ? P without saving without nothing
and Paragraph . )
Document confirmation
Space)
A. Open B. Open Page ]
Ctrl + P Shortcut key is used in Ms Word P P . & C. Open Save |D. Open Print
278 Paragraph Format Dialog | . .
to ? ) Dialog Box Dialog box
Dialog Box Box
A character that is raised and smaller above
279 . A. Outline B. Raised C. Subscript D. Superscript
the base line is known as?
Ctrl + A Shortcut key i d in Ms Word D. Save
20 | orteut keyis used in s Wor A. Align Right |B. Select All C. Change font
to ? document
Ctrl + L Shortcut key i din Mi ft Word C. Increase D. Decrease
21| orteut ey is used in Microsott Tor A. Left Align B. Left Indent , )
to ? Left Margin Left Margin
By default, on which page the header or the i B. on alternate |C. on every D. none of the
282 L . A. on first page
footer is printed in Ms Word Document? page page above

283

switching between portrait and landscape

A. header and

B. print layout

C. page setup

D. none of the

modes involves the ? footer toolbar |view dialog box above
What is the shortcut-key for manual line D. Space +
284 y A. CTRL + Enter |B. Alt + Enter  |C. Shift + Enter P
break? Enter
Which corner of the Word window has the
285 A. upper-left |B. upper-right |C. lower-left D. lower-right
zoom control?
Which key deletes the character to the left of
286 y A.End B. Backspace |C.Home D. Delete
the cursor?
A. Standard, B. D. Basic,
] ] C. Formatted, .
are types of wizards and Contemporary, |Professional, Comprehensive
287 ) ) ) Unformatted,
templates in the Resume Wizard dialog box. and Contemporary, . ,and
. and Graphic
Sophisticated | and Elegant Formatted
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Question

297

Which of the following is not a way to cut ext?

text and press

text and select

text and click

) ) D. A view with
L . C. A View with
. ) o A. A preview in |B. A preview . a structure of
288 | What is a Document Outline View in Ms Word? . . a margins and .
a full screen with margins heading at
gutter )
various levels
Changing the appearance of a document is . .. .
289 Ca“ej 8 PP 5 A. Proofing B. Editing C. Formatting |D. All of above
In MS Word Ctrl+Shift+C is shortke D. Co
290 y A. Copy B. Indent Left |C. Paste Py .
of: ? Format Painter
D. None of
291 |Virus is the word of which language? A. English B. Latin C. Greek
These
C. Edit the
handout
B. Edit the master to
How d . ) . that A. Edit the slide master include vour
ow do V°‘f create speaker note pages tha notes master |and insert Y D. All of the
292 |show the slides, related notes, and your company logo
and add your |your company ) above
company logo on each page? and one slide
company logy |logo and notes )
ane per page with
P additional
note space
Which of the foIIOW|‘ng should bfe gsed when A. File, add a B. Insert, New . .
293 |you want to add a slide to an existing . . C. File Open D. File, New
. new slide slide
presentation?
In Mic.rosoft PowerPoint th.e entry effect as . . B. slide C. custom D. preset
294 | one slide replaces another in a show is called a |A. animation . . . . .
(an) 5 transition animation animation
To select one hyperlink after another during a
25| ¢ VP €2 A Tab B. Ctrl + K C.Ctrl+h D. All of above
slide presentation, what do you press?
. . . A.You can B. You can C. You can
in PowerPoint If you select Insert >> Picture >> |, . ] . . ] D. None of
296 . insert pictures |insert clipArts |insert pictures
From File . above
and clipArts only only
A. Selectthe |B.Selectthe |C. Select the
D. Select the

text and press

selecting ?

the delete Edit, Cut from |the Cut button
Ctrl + X
button the menu on the toolbar
Which k the keyboard b dt
208 | 1CN K€Y ON € keyboard can be usedto 1, py B. F2 C.F5 D. F10
view slide show in Ms PowerPoint?
Which of the followi ti
299 .Ic orthe o. OWIng are ac I?ns yo_u can A. Run a macro |B. Play a sound |C. Hyper link  |D. All of above
assign to an action button or slide object?
w hide border of a sh b
300 | ¢ can remove / hide border of a shape by A. No Line B. No Outline |C. White Line |D. No Border
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301

Question

In excel columns are labelled as

?|A. A, B, C, etc.

B.1, 2, 3, etc.

C
C. A1, A2, A3,
etc.

D. SAS1, SAS2,
etc.

are attempts by individuals to

A. Computer |B. Phishin C. Phishin D. Spyware
302 |obtain confidential information from you by . P i g g Py
falsifying their identity? viruses rips scams scams
E le of log t [ i . . .
303 isxamp eo a: analog to analog conversion A. Radio B. Video C. Television D. Internet
T te Web P t , called
s0q || © CTEATE TED Tages We flse a ferm, cate A. TCP/IP B. WWW C. HTML D. FTP
A. Splittin C. Puttin D. Final Ste
w e - . P 8 B. Combining 8 ) P
305 |What is “Rendering” in video editing? Clips Into Clios Effects Into Of Video
Several Parts P Clips Production
Time duri hich a job d by th B. Required C. Execution D. None of
106 | TIMe urmg which a job processed by the A Real Time : q :
Computer is ? Time Time above
[ t dsheet h cell contai
307 |1 2 COmMPY e; spreadsheet, each cellcontain @ | » |abel B. Value C. Formula D. All of these
208 Which of the fo!lowmg format yf)u can decide |A. Number B. Border C. Font format |D. All of above
to apply or not in AutoFormat dialog box? format format
208 HTML is the basic language used to A Database . C. Webpages D. D?skFop
create ? Spreadsheets publishing
. A . ope D. None of
310 |Ctrl, Shift and Alt are called keys. . |B. Function C. modifier
- Alphanumeric These
The top most ro.w of keys on the standard A. Alphabetic, |B. Number, C. Function, D. Function,
311 | keyboard contains keys, and the b ter k ter k b
longest key on the keyboard is , |Space bar enter key enter key space bar
A. Code B. Code C. Code
" CDMA-technology used in Mobile Phones Division Division Division D. None of
stands for ? Multiple Multiple Mobile These
Acception Access Application
Comment put on Excel cell which is displayed
313 | by taking the Mouse Pointer there, is A. Smart tip B. Soft Tip C. Web Tip D. Cell Tip
called ?
Who is called the “grand father” of the ) B. Charles C. Joseph D. Dr. Herman
314 A. Blaise Pascal .
computer? Babbage Jacquard Hollerith
What t describ icture that has b .
315 ‘a erm gescribes a pictire that hasbeen I Cropped B. Flipped C. Scaled D. Stretched
resized by a percentage ?
A. Ch D. Marti
316 |Who is the father of Internet ? ares B. Vint Cerf C. Denis Riche artin
Babbage Cooper
A.Continuous [B.Electrical i
Analog computer works on the supply of ) C.Magnetic D.None of the
317 electrical pulses but not
? . strength above
pulses continuous
B. Charles D. Augusta
318 |Who is the father of Computer science? A. Allen Turing C. Simur Cray g
Babbage Adaming
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Question
A A . . .
L ) B. Optical C. Electronic D. Optical
319 |What is a light pen? Mechanical ] ] ) ) .
) input device |input device output device
Input device
A computer cannot ‘boot’ if it does not have . C. Operatin
320 P A. Compiler B. Loader P & D. Assembler
the ? System
Which of the following is not anti- viruses .
321 A. Avira B. Kaspersky  |C. Oracle D. McAfee
software?
12 The computer size was very large a. First b. Second c. Third d. Fourth
in ? Generation Generation Generation Generation
Modern Computer are very reliable but the .
323 pu very el ! Y |A. Fast B. Powerful C. Infallible D. Cheap
are not ?
A. Disk B. Disk C. Digital
] ) 8 ) D. Digital Open
324 |DOS stands for ? Operating operating Operating svstem
System session System y
e ) A. Dennis B. Prof John C. Thomas )
325 |Father of “C‘ programming language? A D. Bill Gates
Ritchie Keenly Kurtz
126 Which of the following are the functions ofa | A. Allocates B. Monitors C. Manages D. All of the
operating system? resources Activities disks and files |above
is the ability of a device to  |A. Sequential |B. Random . D. All of the
327 [T C. Quick access
jump” directly to the requested data? access access above
A. Common B. Computer |C. Common D. Common
. Business Business Business Business
328 |COBOL is an acronym for ? . ] .
Oriented Oriented Operated Organized
Language Language Language Language
The ability to recover and read deleted or
d d files f iminal’ teri C. computer
39 | C@TIAEECATIIES TTOM @ cTImInal's Com_pl,J erisan | A robotics B. simulation .p D. animation
example of a law enforcement speciality forensics
called ?
To access properties of an object, the mouse . . . - . C
330 A.D B. . right-clicking|D. shift-click
technique to use is ) ragging dropping C. right-clicking|D. shift-clicking
D. None of
331 |Which of the following is the smallest storage? |A. Megabyte |B. Gigabyte C. Terabyte these
A program that performs a useful task while B. Troian
332 |simultaneously allowing destructive acts is A. Worm. h;)rsej C. Virus. D. Macro virus
a ? )
The scrambling of code is known ] . . D. Password
333 8 A. Encryption |B. a firewall C. Scrambling i
as ? proofing
Note book, lapt Im,hand-held t - . .
ote 09 » |aPOP,PaIM,NANG-NEIE COMPUTErs 5 Digital B. Mainframe |C. Portable D. Hybrid
334 |are coming under the category
computer computer computer computer
of computer?
t ft t D. MS
335 " — are system sortware to A. MS Word B. Editors C. PowerPoint .
facilitate editing of text and data? publisher
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Question

is a windows utility program
that locates and eliminates unncessary

C. Disk

document in maximum?

336 A. Back B. Disk cl D. Rest
fragments and rearranges filed and unused ackup ISk cleahup Defragmenter estore
disk space to optimize operations?

A detailed written description of the A
rogramming cycle and the program, alon ) ) .

337 p. g &y p & 8 documentatio |B. output C. reporting D. spec sheets
with the test results and a printout of the
program is called ? n
Microprocessors can be used to B. Digital D. All of the

33 | o OP ! A. Computer & C. Calculators
make ? systems above
In . . mod.e, thfe communication . D. None of the

339 |channel is used in both directions at the same |A. Full-duplex |B. Simplex C. Half-duplex b
time? above

A. Central
i B. Cascading D. None of
340 | CSS stands for ? Superior C. Both
i style sheets above
Services

341 |Which device is used to process data? A. CPU B. RAM C.DCU D.VvDU
Shortcut key t te a New Fold

3y | 207 CULKEY O Create a Hew rolderon A. Ctrl+N B. Ctrl+Alt+N  |C. Ctrl+Shit+N |D. None.
Windows PCis ?

C. internet
A.internet B. internal . D. insta service
343 | ISP stands for ? . ) service .
- server provider |server provider . provider
provider
A. John
. . ) C. Charless D. James
344 | Digital computer was invented by? Vincent B. Steve Jobs
babbage watson
Atanasoff
In 1999, the Meli i idel - . . .

35 | " . € iglissa virus was a widely A. E-mail virus |B. Macro virus |C. Trojan horse |D. Time bomb
publicized: ?

Shortcut to i t lide in th t

346 |0 0T _O m.ser new slide in the curren A. Ctrl+N B. Ctrl+M C. Ctrl+O D. Ctrl+D
presentation is

C. Direct D. Direct
347 |DMA stands f A. Direct B. Distinct Memor M
stands for emor
Module Access |Module Access y 'y
Access Allocation
aus computers are also called personal A. Super B. Mini C. Micro D. Mainframe
computers. Computers Computers Computers Computers
A. Light B. Light C. Light D. Light
349 |LED stands for .g. . .g. . .g. ‘g. .
Emission Digit |Emitting Diode |Emission Depot|Emission Direct
C. Internet
350 | The first web browser is ? A. Mosaic B. Netscape D. Collabra
explorer
The P Point view that displ ly text B. Slide sorter |C. Notes page |D. Outline
151 .e owerPoin v!ew at displays only tex A Slide show . : pag :
(title and bullets) is? view view view
H I insert i d
45, |HOW many columns can you insert in a wor A 35 B. 45 C 55 D. 63
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Question
D. Formula
A. Formula B. Formula C. Formula .
353 |FORTRAN stands for ? . ) . translation
- transistor translation train network
network
A. Mass Access |B. Media C. Mass Access |D. Media
354 | MAC stands for ? . .
Control Access Control |Carraige Access Carraige
355 | A combination of 4 bit is called ? A. Byte B. Nibble C. Gega Byte |D. Mega byte
In Excel which key i he F
35 | |1 Excel which key is used to Open the Format | "\ o1 | cirive C. Ctrl+F1 D. Ctrl+1
Cells window?
Which key i dtoi t ksheet i
357 EXC:'? CY15 USEA Lo INSErt NeW WOTIShEELIN A Alt+F2 B. Alt+F1 C. Alt+Shift+F1 |D. Alt+Shift+F2
. B. Extensible C. Xtensible D. Extensible
A. Extensible .
358 | XML stands for ? ) Media Markup Markup
Meria Letters
Language Language Language

359

In Excel which key is used for format number
in time format?

A. Ctrl+Shift+6

B. Ctrl+Shift+3

C. Ctrl+Shift+5

D. Ctrl+Shift+2

as ?
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A. Arithmetic |B. Arithmetic |C. Arithmetic |D. None of
360 |ALU stands for ? . . . .
- Longest Unit  |Logic Unit Longest United |these
C. Un- D. Show
. . A. Minimize all |B. Utility ..
361 |Window key + Shift + M L Minimize all  |system
applications Manager L. .
applications properties
. . . D. a
Which of the f.ollo‘wmg should you‘| use if you A. the slide B. add a slide . . presentation
362 |want all the slide in the presentation to have | t opti ‘i C. outline view desi
the same “look” in Microsoft PowerPoint? ayoutoption — joption esign
template
Wh MS Wind ti t
363 | o Was WIS WINGows operating system - 1a 1975 B. 1985 C. 1990 D. 2000
introduced?
Which option in File pull-down menu is used to . .
364
close a file in MS Word? A. New B. Quit C. Close D. Exit
C. Re-Appl
_ o A. Re-Open B. Re-Print the PPl D. Right align
Ctrl + R Shortcut is used in Microsoft Word ) the last
365 the last closed |last printed the selected
to ? paragraph
document page . Paragraph
formatting
Lo B. It indicates |C. It indicates
A. It indicates
whether whether
whether the
o . |extended add- |Extended
What does EXT indicator on status bar of external text is . D. None of
366 | o ons are Selection
Microsoft Word indicate? pasted on . . above
document or installed on mode is
MS Word or turned on or
not
not off
Which of the following is not the part of B. File D. Word
367 . ) & P A. Database C. Image Editor
standard office suite? manager Processor
in Ms Word A character that is raised and
368 |smaller above the baseline is known A. Superscript |B. Raised C. Outlined D. Subscript
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Question

D. To allow
page headers

A. To enhance C. To make
o B. To mark the and footers to
Why headers and footers used in Microsoft the overall . large
369 starting of a appear on
Word Document? appearance of document
page document
the document more readable .
when it is
printed
] B. Format C. Double click
Columns dialog box can be opened A. Press Alt +
370 menu Columns |on column D. All of above
from ? 0O+C .
submenu space in ruler

Jery ffff—ﬁii-/fbjjjlﬁ/Lui_fuc/‘:ﬁ-ﬁ

TestPoint.PIK

B. Select the |C. Copy the
A. Copy the ) Py
) text then click [text and paste
How can you apply exactly the same text and click .
. . . on Format in new
371 |formatting you did to another text in Ms on Paste ] . D. All of above
. Painter and location. Then
Word? Special tool on
select the new type the new
new place i
text text again
A. It changes
) _ & B. It adds C. It shows all
What is the use of “All Caps” feature in all selected ) i D. None of the
372 | . . captions for the image
Microsoft Word? text into . above
selected Image |captions

Capital Letter

173 Which indent marker controls all the lines A. Left Indent |B. First Line C. Right Indent |D. Hanging
except first line? Marker Indent Marker Marker Indent Marker
. C. Re-Appl . .
_ o A. Re-Open B. Re-Print the PP D. Right align
Ctrl + R Shortcut is used in Microsoft Word . the last
374 the last closed |last printed the selected
to ? paragraph
document page . Paragraph
formatting
D. Moves the
) o A. Moves the |B. Moves the |C. Moves the
Page Down Keyboard Key is used in Microsoft . cursor one
375 cursor one line |cursor one cursor one
Word to ? paragraph
down page down screen down
down
] ) A. Moves the |B. Movesthe |C. Movesthe |D. Moves the
“Ctrl + PageUp” Shortcut key is used in Ms
376 Word to 5 cursor one cursor one cursor one cursor one
' Page Up Paragraph Up |Screen Up Line Up
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Question
The Column Command in Ms Word is located

377 A. Insert B. Home C. View D. Page Layout
on the tab.
. ) A. Tools, D. Insert,
Which would you choose to list Synonyms & . B. Tools, C. Tools,
378 Spelling & . Cross-
Antonyms of a Selected word? Language Options
Grammar reference
A. B. Format C.
. ) . D. Format
Ctrl+Shift+1 shortcut Keys in excel are used to |Format numbe [number in Format numbe i
379 } . number in
? rin currency rin .
time format
comma format |format date format
] . . A. Information |B. Information
Which of the following best describes the . . . C. Styles and
) _ ) that is unique |that is same D. None of
380 | contents of a mail merge main document in fonts for the
for every form |for every form above
MS Word? data source
letter created |letter created
To select a block of text, click at the beginning
of the selection, scroll to the end of the
selection, position the mouse pointer at the .
381 postHo! P A. Ctrl B. Alt C. Shift D. Tab
end of the selection, hold down the
key, and then click (or drag
through the text) in Word Document.
to view headers and footers in Ms Word, you . B. Print layout |C. Print D. Both B and
382 ) A. Normal view | | .
must switch to ? view preview mode |C
A. Open Find
P B. Open C. Open Insert
and Replace . )
_ o ) Format Dialog |Dialog box D. Open Insert
Ctrl + H Shortcut key is used in Microsoft Word |Dialog box L N .
383 to 5 with box activating |activating Hyper Link
' . Insert Hyper Insert Hyper Dialog box
activating . .
Link tab Link Tab
Replace Tab
The minimum number of rows and columns in
384 imUm names W amnsi A 1and 1 B.2and 2 C.2and 1 D.1and 2
Ms word document is?
When thre(? hyphens, underjscores, equal A. places a C. changes the
signs, asterisks, or number signs are typed and B. creates a D. creates a
385 ) border above i characters to i
then the enter key is pressed, the Auto Format numbered list bulleted list
. a paragraph an em dash
eature
Which of the following can NOT be used to B. Table Insert |C. Insert D. Format
386 A. Format Tabs
create parallel style column? Table Textbox Columns
When sharing data in Office, the
387 |document is the document in which the data  |A. source B. destination |C. original D. primary
was first entered?
Change the to create a document |A. Page B. Page D. Paper
388 | ‘g ) ) & ) g C. Paper Style P
in wide format in ms Word Orientation margins Source
389 |What is the shortcut key to display field codes? |A. Alt + F9 B. Ctrl + F9 C. Shift + F9 D. Space + F9
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Question
Which of the following position is not available

390 i .

for fonts on MS Word? A. Normal B. Raised C. Lowered D. Centered
201 To advance rightward from one cell to the next A. tab B. backspace |C. home D. enter

in a table, press the key.

) A. From C. From

If you need to hide some paragraphs, how can B. From Font . . D. None of
392 . Paragraph ) Options Dialog

you do it in Ms Word? . dialog box above

dialog box box

The. . in the Re?<.ume Wizard dialog N C. Add/Sort D. Address

393 | box indicates the wizard is ready to create the |A. Start panel |B. Finish panel .
Heading panel |panel

document.

Select a to apply a predefined D. None of
394 . . .

format to a Word 2016 table? A. Table style |B. Table format|C. Format Style bove

U ITL L S S ity gorts p LU
TestPoint.pk

A. Subscriber i C. Secret D. Subscriber
] . B. Subscriber
395 |What Does SIM Stand for on a Cell Phone? identity ) Internet Interface
Inline module
module module Module
206 Which file format can be added to a A B. aiv C. wav D. All of the
PowerPoint show? -IPE B o above
C. Right
clicking the
B. Double 8 )
. N I . . chart object,
You can edit an embedded organization chart |A. Clicking edit |clicking the .
397 | ) . then clicking  |D. b and c both
object by ? object organization .
) edit MS-
chart object o
Organizaiton
Chart object
A. Use B. Launch an
Want a PowerPoint photo album slide show to ] ) C. Loop D. All of the
398 ) random slide |online i
play continuously? L. continuously  |above
transitions broadcast
i i i B. Speaker C. Meetin
.Sllde show options avall.able to the presenter A. Transitions p . g D. Navigation
399 |include all of the following notes reminder
command commands
except ? command command
What is the term used when you press and
400 |hold the left mouse key and more the mouse |A. Highlighting |B. Dragging C. Selecting D. Moving
around the slide?
H t th bet Start and
401 | HOW many steps are there between Startand | | 3 8.4 C s D.6

Finish in AutoContent Wizard?
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Question

Which option in PowerPoint allows to carry

C

is ?

402 | A. Save As B. Save and Go |C. Pack and Go |D. Web and Go
slides from one computer to another?
Special effects used to introduce slides in a B. Custom D. Preset
203 P . A. Effects . . C. Transitions . .
presentation are called ? animations animations
B. Click the
PowerPoint
i C. Select the
window and e a e ps
. slide in slide
A. Select the move it . .
. sorter view, D. PowerPoint
S ) slide in normal |around . ]
One way to make a PowerPoint slide display . ) ) right click and |does not have
404 | T view; and click |vigorously . .
animations is to: ? ; choose preset |an animation
Format, with the ] ]
. ' animations feature
Animation mouse for a
from the
manual
. . shortcut menu
animation
effect
. ) A. Deniss B. Linus C. James .
405 \Who invented Java programming language ? . ] D. Bajarnae
Ritche Torvalds Gosling
Which Operation can’t be performed b . . .. .
406 P P y A. Insertion B. Deletion C. Retrieving D. Traversing
Queue?
Vendor-created program modifications are . ..
407 Prog A. patches B. fixes C. antiviruses |D. holes
called ?
Combination of two or more networks are A.
408 natl W W B. WAN C. MAN D. LAN
called ? Internetwork
Default Font Size In MS Office 2007
409 | A. 12 ppt B. 11 ppt C. 13 ppt D. 14 ppt

the comment appearsin a ?

icon bar

410 |4K resolutions is ? A. 4496x2460 |B.4296x2260 |C.4196x2060 |D.4096x2160
RAM, Cache, Regist lled )
411 ache, registers are cafle A. Input B. Output C. Processing |D. Storage
Temporary ?
In a computer spreadsheet, SUM, AVERAGE, . . D. Relative
412 .
MIN and MAX are examples of 5 A. Calculations |B. Formulas C. Functions addressing
Title bar in MS-Excel displ f th .
ar3 | ne RN 5 xcel displays name ot the A. Worksheet |B. Workbook |C. Formula D. Location
414 |‘mpg’ is the extension of ? A. Audio B. Image C. Video D. Flash
wWh i t tinad t, . . C. sticky note
415 en you Insert a comment in a documen A. New window/|B. Sidebar y D. Balloon

Choose the best option : An anti virus program

A. Identify and

B. Scan device

C. Scan device,

D. Scan device

416 | : } . : ] identify and .
is designed to computer virus. eliminate and identify .. ¥ and eliminate
eliminate
Top open an existing workbook, click the open . .
a7 | OPOP 8 P A. form B. standard C. Drawing D. Formatting
button on the toolbar?
418 |Compiler Is Also ? A. Software B. Program C. Code D. All Of These
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Question

memory loses content, when . . . D. None of
49 | T y A. Non volatile |B. volatile C. Static
power is lost. these
We can Search character & word and symbols D. None of the
a0 C € ! Y A. Ctrl + R B. Ctrl + F C. Ctrl + F5
in Microsoft word by using command? above
If a computer has more than one processor . C. Multi- D. Multi-
421 . A. Uni-process . .
then it is known as ? Multiprocessor |threaded programming
hich one is Digital device, select from th B. Automobile | = CI0¢K With a
which one is Digital device, select from the . . . .
422 . & A. Digital Clock dial and two D. All of them
choices below? speed meter
hands
C. a control D. an
A.acard B. an analytical ] ) i
) . unit and an arithmetic
423 |A CPU contains ? readeranda |engine and a ) ) ) )
. i i arithmetic logic unit and
printing device |control unit . .
logic unit a card reader
A. Universal B. Universal C. Unique D. Unvalued
424 |UNIVAC is ? Automatic Array Automatic Automatic
Computer Computer Computer Computer
The amount of vertical space between lines of |A. double- ] ] i D. vertical
425 _ ) B. line spacing |C. single space )
text in a document is called ? space spacing
A. Distinct B. Direct . D. Direct
C. Direct
426 |What does DMA stand for? Memory Memory Memory
Module Access .
Access Access Allocation
. Microprocessors as switching devices are for  |A. First B. Second C. Third D. Fourth
generation computers? Generation Generation Generation Generation
Personal compute‘rs u.se :;.1 number of chi.ps A. Daughter B.
428 |mounted on a main circuit board. What is the C. Father board |D. Breadboard
board Motherboard
common name for such boards?
. . . (e D. Satya
429 \Who is the Current CEO of Microsoft? A. Babbage B. Bill Gates C. Bill Clinton
Nadella
The instructions that tell a computer how to .
. C.input D. memory
430 | carry out the processing tasks are referred to  |A. programs B. processors )
devices modules
as computer ?
To move a copy of file from one computer to B. File C. File
431 |another over a communication channel is A. File transfer | . . D. File copying
encryption modification
called?
provides process and C D
memory management services that allow two ] . |B. . . L .
432 Y g A. Multitasking ) . |Multiprocessin |Multicomputin
or more tasks, jobs, or programs to run Multithreading
simultaneously? g
All of.the following ar.e examples of real ‘ D. identity
433 |security and privacy risks A. hackers B. Spam C. Viruses theft
EXCEPT ? ©
Where does most data go first with in a
434 , & A. RAM B. ROM C. BIOS D. CACHE
computer memory hierarchy ?
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Question
) ) ) C. output D. solid-state
435 |A DVD is an example of a (n) ? A. hard disk B. optical disc ) P )
device storage device
Which of the following con.talns permaner'mt A. Operating B. Transaction _ .
436 |data and gets updated during the processing . . C. Software File |D. Master file
. System File file
of transactions?
An intentionally disruptive program that A Troian D. Time-
437 |spreads from program to program or from disk h. ) B. Virus. C. Time bomb. |related bomb
to disk is known as a ? orse. sequence.
T tthel f data duri A. Encryption |B. Surge
438 qpreven e loss of data during power yp g C. Firewall D. UPS
failures, use a(n) ? program protector
) . |B. Output C.BothA&B |D. None of
439 |Touch Screen is ? A. Input device .
device above these
Computers, combine both measuring and . .
440 p, & A. Analog B. Digital C. Hybrid D. All of these
counting, are called ?
- Is the most ) ) B. Network C. Network D. Network
441 |important/powerful computer in a typical A. Desktop . )
client server station
network?
F h i i . .
. orms that are used to organize business data A transaction . C. business D. spread
442 |into rows and coloumns are B. registers
sheets forms sheets
called ?
C. Itis more
A. High level
& B. High level difficult to
languages . .
must be language identify errors
Which statement is valid about computer . programs are |in high level
443 converted into . D. All of above
program? . more efficient |language
machine
and faster to  |program than
language to )
execute in low level
execute
programs
. . . B. William C. Gottfried .
444 |Who invented Slide Rules? A. John Napier o D. Blaise Pascal
Oughtred Leibnitz
A. Robert E.
445 |TCP/IP invented by ? Kahn B. Vint Cerf C. Alanturing |D.A&B
Pressing F8 key for three time D. Entire
446 8 y A. A sentence |B. A paragraph |C. A word
selects ? document
C. Ink-jet D. Dot Matrix
447 |The ribbon is used in ? A. Laser Printer |B. Plotter i J ]
printer printer
A. Palmto B. Lapto C. Notebook D. None of
448 \Handheld computer is also called ? P ptop
computer computer computer these
A device through which we enter datain a A. Storage B. Internal C. Prcessing .
449 . . . D. Input Device
computer known as ? Device Device Device
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Question

C. Secondary

D. none of the

opens and closes the Start menu?

450 | Disk and tape drives are commonly used? A. Hard copy |B. Soft copy storage above
v
devices
is the shortcut key to select the A. Alt + Space |B. Shift + C. Ctrl + Space
451 - ] D. None
entire row in Excel. bar Space bar bar
452 |\Which of the following is the largest storage? |A. Megabyte |B. Petabyte C. Kilobyte D. Terabyte
Wh the first electro- hani
gs3| | on Was ENE ISt € ectro-mecnanic A. 1880 B. 1944 C. 1960 D. 1980
Computer developed?
C.A
A. An B. An o An .
. . , interpreteris a
interpreter interpreter is
general
does the the
. . ] , purpose D. None of
454 |\What is an interpreter? conversion representation
. ) language these
line by line as |of the system o
. . providing very
the program is |being .
. efficient
run. designed. ,
execution.
C. From Slide
B. From Slide !
Show menu
. . , Show menu
455 |How to start slide show of a presentation? A. Hit F5 key ) choose D.Botha &b
choose View
. Rehearse
Show option -
timing
- Egllectlon of characters, numbers and symbols A. Data B. Keyboard C. Monitor D. Ram
In MS Word, What is th i |
gsy | V1> TYOTG, TTRGE IS ENE maximum scate A. 400 B. 100 C. 150 D. 200
percentage available in scale drop down box?
B. Digital
A. Digital X & C. Disc Video |D. Disc Video
458 |DVI stands for ? . Video
Video Internet Interface Internet
Interface
A. Intranet B. Internet C. Intranet D. Internet
459 ||P stands for ?
Process Process Protocol Protocol
. . . . D. None of
460 |In Excel which key is used to select entire row? |A. Ctrl+Space |B. Shift+Space |C. Alt+Space th
ese
261 Which key is u.sed to create chart from A F11 B F1 C.F10 D. Both A & B
selected data in excel?
462 |Dot-matrix is a type of? A. Printer B. Disk C. Tape D. Bus
In Excel which key i df teaf [
ge3 | DXCELWRICh KEY IS Used Tor create atormuia | o ctr= B. Alt+- C. Alt+= D. Ctrl+-
to sum all of the above cells?
B. Common C. Combined |D. Carbon
464 | CC stands for ? A. Cut Copy
Copy Copy Copy
A. show C. Show
465 |Window key + F1 system B. Help Desktop D. Run
properties (toggle)
Wh th key by itself, it
466 en you press the ey by el ! A. Ctrl B. Shift C. Alt D. Window
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Question

in the context of animations, what is a trigger

A. An action
button that

B. An item on
the slide that

C. The name of

repeated word

repeated word

repeated word

467 rforms an D. All of
in Microsoft PowerPoint? advances to pe . ormsa a motion path of above
. action when
the next slide ]
clicked
Which of the following are word processin
468 & P & A. WordPerfect |B. Wordpad C. MS Word D. All of above
software?
A. It converts D. It applies
selected text |B.ltaddsa C. It makes Italic
469 |What is the function of Ctrl + Bin Ms-Word?  |into the next |line breakto |tho selected |formattingt
larger size of |the document text bold the selected
the same font text
A. Save B. Save C. Save D. Save
70 Ctrl + S Shortcut is used in Microsoft Word Document Document Document and |Document and
to ? with different |with same Close Word Print whole
name name Application Pages
. . . C. Synonyms
Thesaurus tool in MS Word is used A. Grammar B. Spelling
471 i i and Antonyms |D. All of above
for ? options suggestions
words
Which of the following option in File pull down ) .
472 A E B.Cl . D.N
menu is used to close a MS Word document? it Close C. Quit ew
In Ms Word, What is the maximum number of
a3 || ! ximum nd A.3 B. 10 C.15 D. 20
lines you can set for a drop cap?
A. Delete the
selected item
. permanently D. Create a
In Microsoft Word the shortcut SHIFT+DELETE . B. Copy the C. Rename the
474 | without ) i shortcut to the
is used to ? . selected item |selected item .
placing the selected item
item in the
Recycle Bin
Which of the following is used to create A. Format B. Table Insert D. Insert
475 . C. Format Tabs
newspaper style columns in Ms Word? Columns Table Textbox
) D. None of
476 |DropCap means ? A.Small Caps |B. Title case C. All Caps
above
B. A Green
] ] ) A. A Red wavy ) C. A Blue wavy
How Microsoft Word will respond in repeated |,, wavy line . D. None of the
477 line under the line under the
word? under the above

478

What is the extension of Microsoft Word files?

A.DOT
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Question
A. Save B. Save C. Save D. Save
475 Ctrl + S Shortcut is used in Microsoft Word Document Document Document and |Document and
to ? with different |with same Close Word Print whole
name name Application Pages
A. Moves the |B. Movesthe |C. Movesthe |D.Moves the
280 Home Keyboard Key is used in Microsoft Word |cursor cursor cursor cursor
to ? beginning of  |beginning of  |beginning of | beginning of
the document |the paragraph |the screen the line
B. Moves the |C. Moves the
_ ) A. Moves the
“Ctrl + End” Shortcut key is used in Ms Word cursor to the cursortothe |D. None of the
481 cursor to the
to ? . end of end of Above
end of Line
Document Paragraph
Which of the following can you change usin . B. Page C. Vertical D. All of the
482 . & you g€ using A. Margins . g . .
the page setup dialog box? orientation alignment above
How do you magnify your document in Ms . C. Tools, D. Tools,
483 W doyou magnity you 8 ! A. View, Zoom |B. Format, Font ] .
Word? Options Customize
All power point slides intance vie . . B. Instance ] . D. Instance
484 | POWer po! aest view A. Slider View . i C. Slide View . .
is ? Slide View Slider View
Small squares, called ,on the
selection rectangle that surrounds a graphic B. sizing C. status D. move
485 ) i A. scroll boxes ..
can be used to change the dimensions of the handles indicators handles
graphics in Ms Word.
A. Copy the C. Select the
Py B. Copy the )
text and paste ) text then click
H | tly th in new text and click on Format
age | 0" Car,] you app_ y exactly the same . on Paste ] D. All of above
formatting you did to another text? location. Then . Painter and
Special tool on
type the new select the new
) new place
text again. text
Which of these toolbars allows changing of ] C. Print D. None of
487 A. B. Formattin
Fonts and their sizes in Word Document? Standard ormatting Preview these
A. Open Find
P B. Open Page
and Replace . C. Open Font .
) _ ) Setup Dialog ) D. Open File
Ctrl + F Shortcut key is used in Ms Word Dialog box . Dialog Box .
488 . box with . . Save as Dialog
to ? with L with activating
L. . activating box
activating Find Font tab
Layout Tab
Tab
. . . . A. Sub B. Mini C. Junior D. Active
489 |Directory in a directory is called ? . . . .
directory directory Directory directory
Ctrl + E Shortcut key i din Ms Word A. Exit ]
a90 | orteut ey is tsed in s Tor L B. Select All C. Clear All D. Align Center
to ? Application
Which 4 h ¢ te footer i A. format, C. insert, D. view,
ich menu do you choose to create footer in )
491 . Y header and B. view, footer header and header and
Office 3657
footer footer footer
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Question

Which of the following provides a list of A. Find B. Replace D. Spelling and
492 C. Thesaurus
synonyms? command Command Grammar
The Word Count command on the Tools menu
displays the number of words as well as the i D. all of the
a3 0P . A. lines B. characters |C. paragraphs
number of in the current above
document.
. Press to create a line break,
which advances the insertion point to the . .
494 o . p. . . A. shift+enter |B. ctrl+enter C. shift+tab D. ctrl+tab
beginning of the next physical line — ignoring
any paragraph formatting instructions
Which option enables automatic updates in . . . . .
495 . p P A. embedding |B. objects C. links D. relationships
destination documents?
Which of the following typically appear at the
496 ! v g yF.)I v app A. End notes |B. Foot notes |C. Header D. Footer
end of document for citation of source?
Word stores all frames associated with a Web |A. authoring D. hyperlink
497 ] i _ B. text page C. frames page
page in a single file called the page page
498 |Which of the following term means to reckon? |A. putare B. com C. computa D. computar
To change margin settings in Word 2016, click
499 on the menu bar and then pointto  |A. File B. Layout C. Format D. Tools
the Page Margins.
500 |Half of a byte is called? A. Transistor  |B. Compiler C. Nibble D. Binary Digit
In Mi ft P Point t kind of d . . . . .
" |cro.so OWerroint two Kind of soun A. .wav files B. .wav files C. .wav files D. .jpg files
501 | effects files that can be added to the .y g I . . -
. and .mid files |and .gif files and .jpg files  |and .gif files
presentation are ?
. C. double click i
A. click the . D. double click
L B. click the the
) . application L. the document
502 |To exit the PowerPoint? A document applications
minimize control menu
close button control menu |,
button . icon
icon
Which of the foI'Iowing tc?ol enables you to add A. Text tool . ‘ D. Auto shapes
503 |text to a slide without using the standard B. Line tool C. Drawing tool
box tool
placeholders?
Whlch of the foIIonlng by'pas‘Sfes the F)rlnt A. File, print, B. The print . .
504 |dialog box when printing individual slides or an . C. File, print D.Ctrl+p
) ) preview button
entire presentation?
) C. Use the
How can you create a uniform appearance by |A. Create a B. Edit the D. All of the
505 . ) . . autocorrect
adding a background image to all slides? template slide master ard above
wizar
Which of the following can you format usin A. Your hard B. Format ..
506 g, ¥ 8 . Lo C. Font color |D. Underlining
buttons on the formatting toolbar? drive painting
Wh'Ch opt|orT can be used to Freate anew B. Custom C. Slide show |D. Slide show
507 |slide show with the current slides but A.Rehearsal . .
) ) slider show setup view
presented in a different order Pace 35 of 7
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508

Question

We can replace a font on all slides with
another font using the option
in Ms PowerPoint?

A. Edit, Fonts

B. Tools, Fonts

C. Tools,
Replace Fonts

D. Format,
Replace Fonts

509

Which types of fonts are best suitable for titles
and headlines in Ms PowerPoint?

A. serif fonts

B. sans serif
fonts

C. text fonts

D. picture fonts

510

VAB stands for ?

A. voice auto
broadcasting

B. Visual &
audio
broadcasting

C. Voice
answer back

D. None of
these

Multi user systems provided cost savings for

. i A. Personal B. C. Dumb .
511 [small business because they use a single . ] D. Mainframes
. . . Computer Workstations |Terminals
processing unit to link several ?
In MS Word short cut key for Split a window or
512 . A. Alt+Ctrl+S  |B. Ctrl+Alt+V  |C. Ctrl+Alt+O |D. Ctrl+Alt+N
remove the split view?
A. Right
clicking the
g ) B. Double
. o chart object, L . i
You can edit an embedded organization chart L clicking the C. Clicking edit |D.Aand C
513 | then clicking L .
object by ? . organization object both
edit MS- )
. chart object
Organizaiton
Chart object
Which function you will use to add names and
514 |addresses of different recipient for each copy |A. Envelopes |B. Labels C. Mail Merge D. Drop Cap
of the letter?
515 |First page of Website is termed as ? |/A. Homepage |B. Index C. JAVA script |D. Bookmark
What is the shortcut key to delete data b ) B. Shift + C. D. None of
at is the shortcut key to delete data . .
516 y y Ctrl+delete but Alt+delete butt
permanently? Delete Button these
ton on
In a computer spreadsheet, cell range A3
517 . A3- .A3: .A37?. .
through G3 should be keyed in as ? A.A3-G3 B. A3:G3 C.A3°.G3 D.A31t0G3
Followi binati f keys i dt
51| 0 06 COMPINATION 0F KEYS 15 HSeE 10 A.CTRL+F1  |B.CTRL+F5 | C.CTRL+F10 |D.CTRL+F12
maximize or restore a selected window:
User developed instruction f I
519 c:I(Ie;d evelope m.; ruction for excetare A. Progrms B. Macros C. Procedured |D. All of these
is widel dfort itti
520 1 Wiy tisecfor [ransmiring A. MP3 B. WMA C. WAV D. AVI
streaming videos data on the internet.
- Speed of inte:net connection is measured in A GHz B. dpi C. ppm D. Mbps
Which following is not iated with
522 Ic. ampng Olowing Is NOt associated Wi A. Edit B. Ignore All C. Ignore D. Change
spelling dialogue box?
523 |Which is the core of the operating system? A. Shell B. Kernel C. Commands |D. Script
524 |\which of following is page margin? A. Letter B. Tabloid C. Narrow D. Legal
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525 |which layer of OSI model used by router? A. layer 2 B. layer 4 C. layer 3 D. All of above
A light sensitive device that converts drawing, D. None of
526 |printed text or other images into digital form |A. Keyboard B. Scanner C. OMR h
is ) these
. The computer that process both analog and A. Analog B. Digital C. Hybrid D. Mainframe
digital is called ? computer computer computer computer
Which of the following controls the process of
A. User B. Language
528 |interaction between the user and the . guag C. Platform D. Screen saver
. interface translator
operating system?
The capacity of 3.5 inch flo disk
9| Pacty or= > PPy dl A.1.40MB  B.1.44GB  |C.1.40GB D. 1.44 MB
A. Employee |B. Examination |C. Bank
530 |Example of non-numeric data is ? ploy D. All of these
address score balance
D. All of the
531 | Which of the following is a storage device? A. Tape B. Hard Disk C. Floppy Disk b
above
Which of the following devi b dt
532 | ¢ O, ero ?ng evices can be sued to A. OCR B. OMR C. MICR D. All of above
directly image printed text?
B. Which is D. Which is
A. Which is assiened one C. Which uses meant for
533 |What is meant by a dedicated computer? used by one g one kind of L.
and only one application
person only software
task software
534 | Which of the following are input devices? A. Keyboard B. Mouse C. Card reader |D. All of these
o3 An area .o.f a computer that te'mporarlly holds A CPU B. Memory C. Storage D. File
data waiting to be processed is ?
The primary function of the is to A. System
536 |set up the hardware and load and start an B. BIOS C.CpP D. Memory
. Programs
operating system?
The task of performing operations like
537 |arithmetic and logical operations is A. Processing |B. Storing C. Editing D. Sorting
called ?
Which of the following is NOT one of the four A gatherin B. processing |C. analyzing D. storing the
538 |major data processing functions of a d;;\tga 8 data into the data or data or
computer? information information information
The data mining technique A. Rule B. Signal D. Case-based
539 ; . ) C. Neural nets .
derives rules from real-world case examples? |discover processing reasoning
The process of transferring files from a A
540 |computer on the Internet to your computer is ) ] B. uploading C.FTP D. JPEG
Downloading
called ?
A. a telephone
541 | A modem is connected to ? P B. a keyboard |C. a printer D. a monitor

line
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In 1999, the Meli i idel . . C. Trojan .
542 | . € Viglissa virus was a wicely A. E-mail virus. |B. Macro virus. ) D. Time bomb.
publicised: ? horse.
is defined as any crime completed |A. Computer B. Computer . .
543 I I yen P .p ] P C. Hacking D. Cracking
through the use of computer technology? forensics crime
d for plotti hs and
544 | T are tsed tor plotting grapns and |, Trackball B. Joystick C. Light pen D. Plotters
design on papers?
I Id today, t of th t . . .
545 anré/vor oday mos? oTthe computers A. Digital B. Hybrid C. Analog D. Complex
The software that is used to create text-based ' C. D. Word
546 |documents are referred to A. DBMS B. Suites
as 5 Spreadsheets |processors
In power point, the header and footer button |A. lllustrations .
sa7| " P P . ) B. Object group |C. Text group |D. Tables group
can be found on the insert tab in what group? |group
D. anything
that can be set
By pro bl hi B. modern C. washin to perform
<4g |BY Programmable machine we A. computers >d . g : p
mean ? television machines different tasks
with suitable
programs
A. An
electronic
B. A more
automated L C. Any
. sophistic and . .
. . machine that . machine that |D. A machine
The proper definition of a modern digital modified
549 ) can solve i can perform that works on
computer is ? electronic ) ,
problems ocket mathematical |binary code
involving P operations
calculator
words and
numbers
550 |Smallest font size in MS-word is ?IA. 6 B. 8 C.10 D. 12
What is th i font si |
ssp |0 971 TMAXITU TOnT 57 YOU Can 3PP A, 160 B. 163 C. 1638 D. 16038
for any character in Ms Word?
Th dC t d for the first ti
sy || C Word tomputerusediorthedirstime 1 a 1613 B. 1614 C. 1615 D. 1616

in ?
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Question B C
. B. Consumer- |C. Business-to-
A. Business-to-
553 | Types of e-commerce ? . to-Consumer |Consumer D. All of above
— Business (B2B)
(c20) (B2C)
A.To o
. . B. To save the |C.To Bold the |D. To itallic the
554 | Ctrl+B is used to? underline the
text selected text |text
selected text
D. every
computer is
C. every P
. . . capable of
A. there is only |B. there is only [computer is lavine the
555 | In peer-to-peer networking: one server and |one client and |capable of piaying ]
many clients many servers laying the role of client,
¥ y playing server or both
role of server
at the same
time
o6 is the shortcut key to select the A. Alt + Space |B. Shift + C. Ctrl + Space D. None
entire column in Excel. bar Space bar bar '
C. Output D. None of
557 |Printer is an A. Input device |B. Software . P
device above
A. Flight B. Feature
B . . C. Floppy Disk |D. Frequency
558 |[FDD stands for Dynamics Driven . L
L. Drive Division Duplex
Division Development
Shortcut t it Mi ft Word, P int
559 |01 reU™ 1O GUIT VIICTOSOTE TYOrd, FOWETROING | o " Alt + F4 B. Ctrl + W C.Shift +F4  |D. Alt+ W
Access, Excel etc is
Which of the following i ti . .
560 ich of the following is/ are operating A. Windows B. Unix C.0S/2 D. All of these
systems?
A. Asian B. American C. Asian D. American
s61 | ANS| stands for , Narcotics National National Narcotics
' Standards Standards Standards Standards
Institute Institute Institute Institute
s6r Shortcut key to split a table is A. Ctrl + Alt + |B. Ctrl + Shift |C. Alt + Shift + |D. Alt + space
? Enter + Enter Enter + Enter
A. Right Text |B. Read Text C. Rich Text D. Royal Text
563 |RTF stands for ?
Format Format Format Format
. B. American C. American D. Asian
A. American
Standard Code |Standard Code Standard Code
Standard Code
564 | ASCII stands for ? for for for
— for Inked . . .
. Information Information Information
Information
Inked Interchange Interchange
In Excel which key i dt lect enti D. None of
se5 | el WHICh Key Is Used to sefect entire A. Ctrl+Space |B. Shift+Space |C. Alt+Space
column? these
C.
566 |Which key is used for find in excel? A. CTRL+C B. CTRL+F D. ALT+SHIFT+F
Y ALT+SHIFT+D
s67 | EM stands for 5 A. Frequ?nt B. Frequt.ency C. Frequency |D. Frequency
- Modulation Modulation Method Molecules
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Question
In Excel which key is used for format number

C

media center

568 | A. Ctrl+Shift+1 |B. Ctrl+Shift+4 |C. Ctrl+1 D. Shift+1
in comma format?
A. Binary B. Basic C. Blind D. Business
569 |BCC stands for ?
Common Copy |Carbon Copy |Carbon Copy Common Copy
570 |Which key is between the Ctrl and Alt keys? A. Shift B. Enter C. Window D. Space bar
571 |8 Bits make up a ? A. Byte B. Megabyte |C. Kilobyte D. None
If you have a PowerPoint show you created
d tt d usi il't th
575 |21 WAt 1O SENCLISING emall to another . A. Inclusion B. Attachment |C. Reply D. Forward
teacher you can add the show to your email
message as a (an) ?
573 |What are inserted as cross-reference in Word? |A. Placeholders |[B. Bookmarks |C. Objects D. Word fields
574 | Graphics for word processor is ? A. Peripheral |B. Clip art C. Highlight D. Execute
D. Terminate
Ctrl + T Shortcut is used in Microsoft Word A. Hanging C. Open Tabs
575 B. Left Indent ) all opened
to ? Indent Dialog box ,
Dialog box
C.Doa
. N D. Keep an
76 A word processor would most likely be used to |A. Type a B. Maintain an |computer ccount of
do ? biography inventory search in

money spent

577

In Microsoft Word the Superscript, subscript,
outline, emboss, engrave are known
as ?

A. Font effects

B. Text effects

C. Font styles

D. Word art

tasks by using
VBA

you need them

Word

B. Press F8
o7 How can you disable extended selection mode |A. Press Del to aeain to C. Press Escto |D. Press Enter
in Ms Word? disable g disable to disable
disable
A. Small
programs B. Small add- |C.
created in MS- |on programs |Programmin
) Prog & & D. Large tools
In Microsoft Word, Macros Word to that are language that |,
579 . in Word such
are ? automate installed you can use to .
- . . as mail merge
repetitive afterwards if  |customize MS-

Which of the following can NOT be used to A. Insert B. Table Insert D. Format
580 . C. Format Tabs
create parallel style column in Ms Word? Textbox Table Columns
It is possible to a data source D. all of the
581 - A. Modif B. Sort C. Creat
before performing a merge in Ms Word?. odify S0 cate above
C. Underline
] o ) A. Color of B. Style of
Which of the following is correct regarding ) i can be set D. All of the
582 o Underline can |Underline can )
Underline in MS-Word? using by above
be change be change
L shortcut key
rqsc U Ul 7/
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Question

on ?

Toinsertad [ f th h D. None of
sg3 | o \1ocrtacropcapin one ot the paragrap A. Format B. Tools C. Insert Menu
you should access ? above
. D. Terminate
Ctrl + T Shortcut is used in Microsoft Word A. Hanging C. Open Tabs
584 B. Left Indent ) all opened
to ? Indent Dialog box ,
Dialog box
) S A. Moves the |B. Movesthe |C. Movesthe |D. Moves the
End Keyboard Key is used in Microsoft Word
585 to 5 cursor end of |cursor end of |cursor end of |cursor end of
' the line the document |the paragraph [the screen
) _ A. Moves the |B. Movesthe |C. Movesthe |D. Moves the
“Ctrl + Up Arrow” Shortcut key is used in .
586 | . cursor one cursor one line |cursor one cursor one
Microsoft Word to ?
page up up screen up paragraph up
B. Dragging C. Use your
A. Use the the scroll box |ENTER key to
587 | To read through a document you may: y D.OnlyA&B
arrow key on the scroll go down line
bar by line
To set an exception to an AutoCorrect rule,
lick th b d then click
588 |C _on‘ € men‘u arandthen clic A. Format B. Edit C. Tools D. View
AutoCorrect Options to display the
AutoCorrect dialog box.
C. Visual D. None of
589 |In power point ellipse motion is ?|A. Animation |B. Slide Timing .
Widgets these
In Ms Word 2016 the Zoom is placed .
590 P A. View tab B. Home tab C. Statusbar |D. A & Cboth

If you will be displaying or printing your

dialog box?

document on another computer, you’ll want B. Embed True |C. Save True
591 A. Embed Fonts D. Save Fonts
to make sure and select the Type Fonts Type Fonts
option under the ‘Save’ tab.
A. Press F8
597 How can you disable extended selection mode aeain to B. Press Del to |C. Press Escto |D. Press Enter
in Microsoft Word? g disable disable to disable
disable
C. Open Find
A. Open P
Paragraoh B. Open Page |and Replace
Ctrl + G Shortcut is used in Microsoft Word ) grap Setup Dialog |Dialog box D. Open Goto
593 Dialog box o . .
for ? . box activating |with Dialog box
activating ..
Goto Tab activating
Goto Tab
Goto Tab
What is the short cut key t the O
so4 | 00" IS TNE SOTLCULKEY TO OPEN e BIPEN 1A F12 B.Shift F12  |C.Alt+F12  |D.Ctrl+F12
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B. clears all C. clears all
default tab default tab D. does not
A. clears all
_ stops to the stops to the clear any
595 |When a custom tab stop is set, Word default tab ,
right of the left of the default tab
stops
custom tab custom tab stops
stop stop

U B gy ITL L TS et goorts p LUAG
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A. It activates

B. It activates

C. It selects
the paragraph

What happens if you press Ctrl + Shift + F8 in the ) D. None of
59 | extended on which the
Microsoft Word? . rectangular ) . above
selection ) insertion line
selection .
is.
C. the
) . . D. the
o . A. word is the |B. excelisthe |worksheet is ,
Which is true when you insert an excel - N document is
597 ] destination destination the
worksheet into a word document? L the source
document document destination
document
document
so8 Ctrl + C Shortcut key is used in Microsoft Word |A. Copy the B. Cut the C. Print the D. Paste the
to ? selected text |selected text |selected text |selected text
. ) ) A. date line i
Essential business letter elements include the . C. signature D. all of the
599 and inside B. message
block above
address
A isaf tti k at the end |A. paragraph . ] D.
—_— 15a orma. ne .mar a. een paragrap B. nonbreaking |C. line break .
600 |of a line that moves the insertion point to the |break nonbreaking
- L space character
beginning of the next physical line. character hyphen
To disp!ay n'10re of the 'document on the A. white space |B. white space C.grayspace  |D.all of the
601 |screen in print layout view, the can |atthetop of |atthe bottom
) between pages |above
be hidden the pages of the pages
Ms Word, by default, pl tab stop at
6oy | o \vOrc, By Getaulit, places a tab stop a A..25" B..5" C..75" D. 1"
every mark on the ruler.
H h in mini th
603 ow'muc space in minimum must be A 0" B.0.5" c 1" D. 1.5
provided between columns?
If you need to change the typeface of a . .
60a | Y change the typ A. Edit B. View C. Format D. Tools
document, which menu will you choose?
Microsoft Excel 2019 files have a default
605 A. Xlsx B. .XlIs C. .excel D..123

extension of ?
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Question B C
C. A method
A. A type of B. A method of .
. . . . . . i of moving D. All of the
606 |What is a motion path in Powerpoint? animation advancing .
i itemsona above
entrance effect |slides )
slide
. B. An item on
A. An action ]
] S ) ] the slide that
in the context of animations, what is a trigger |button that C. The name of
607 performs an D. All of above

in Powerpoint?

advances to
the next slide

action when
clicked

a motion path

608

Which of the following views is the best view
to use when setting transition effects for all
slides in a presentation?

A. Slide sorter
view

B. Notes pages
view

C. Slide view

D. Outline view

A. Emphasis .
) ) B. Types of C. Predefined
What are lines, curve, free form, and scribble |effects that D. All of the
609 | ] . custom entrance and
in PowerPoint? can be applied ) : above
. motion paths |exit effects
to animations
Which of the following should if D.a
ch ot the ,O O,W'ng shou yOlf USEITYOU A the slide B. add a slide . . presentation
610 |want all the slide in the presentation to have | t opti ‘i C. outline view desi
the same “look”? ayout option |option esign
template
] . A. Word for D.
The quickest way to create a PowerPoint . B. Auto C. Auto )
611 . windows . . . Presentation
presentation is to use the ? creation wizard |content wizard |
templates wizard
The boxes that are displayed to indicate that
612 |the text, pictures or objects are placed initis |A. Placeholder |B. Auto text C. Text box D. Word art
called ?
C. Clip art D. More
A. Different P ) .
categories technical
Block arrows, stars and banners, and callouts  |types of B. Auto Shape .
613 . , . located in the |terms that |
are all examples of ? children’s categories . ) ,
o Microsoft Clip |don’t
building blocks
Gallery understand
Which t f font is best suitable for | B. sans serif )
614 Ich type o c,m 'S bes S,UI aple foriarge A. serif fonts C. text fonts D. picture fonts
amount of text in PowerPoint? fonts
. . . D.
MS Power Point is a/an example A. Multimedia |B. Graphics .
615 C. Spread sheet |Entertainment
of ? software software
software
616 Who has been called the world’s first Lady A. Ada B. Allegra C. Lady D. Allegra Noel-
computer programmer? Lovelace Byron Augusta Byron
in MS-Excel short cut key is used D. None of the
o7 | y A. Ctrl+H B. Ctrl+7 C. Ctrl+9
for hiding rows. above
Which PowerPoint view works best for adding ) ) B. Slide show i D. Slide sorter
618 | . i A. Slide view . C. Notes view ]
slide transitions ? view view
Which of the following shortcut is used to . ] C. WinKey + D. WinKey +
619 A. WinKey + M |B. WinKey + D
Bring desktop to the top of other windows ? y 4 SHIFT + M CTRL+F
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620 |Short Key Of Window Refreshing ? A.F12 B. F9 C.F2 D.F5
A. Uniform B. Uniform C. Universal D. Uniform
621 |URL stands for ? Retention Resource Resource Retention
Location Locator Locator Locator
62 Which of the following will not enter dataina |A. Pressing B. Pressing the |C. Both of D. None of
cell? the Esc key Tab Key these above

623

In a computer spreadsheet, which is true if
current or active cell is B4 and you pressed

A. you will be

B. you will be

C. you will be

D. you will be

inthe cell A1 |inthecell B5 |inthecellB3 |inthe cell B6
Enter key?
Basic unit of a computer worksheet in which
624 |you enter text and numbers is known as A. workbook |B. column C.row D. cell
?
B.
The Windows |C. Microsoft D. An
Registry is a rogram to '
A. Windows ) & y' prog application to
o ) i hierarchical enable or )
625 |What is windows registry? register to . edit the
i database that |disable a
store clipboard ) system
stores low- particular i i
) ] configuration
level settings |function
for OS
With interact with B. Menu D.
' ? X ’ users,m eract With menuis A ' command- - C. Graphical Performance-
626 |and visual images such as icons, buttons, and . Driven .
: . Line Interface User Interface |Moniter
other objects to issue commands? Interface
Interface
To create an mter.actlve P'VOt_ Table for the A. Pivot Table |B. Pivot Table |C. Pivot Table
627 |web, you use a Microsoft Office Web . . . D. HTML
Report List Field List
component called?
Which of the following Key i t foundi .
628 'ch ot the Tollowing ey 15 NOt Tound in A. Turn key B. Alt key C. del key D. shift key
normal computers / laptops?
What is the n'ar'ne of the'operatmg éystt‘em D. None of the
629 |which was originally designed by scientists and |A. MS DOS B. UNIX C.0S/2
. L . above
engineers for use by scientists and engineers?
] o ) ) C. D. Both (A
630 |Which of following is not character spacing ?  |A. Expanded |B. Raised
Condensed |and Q)
A. World B. Wide World |C. Web World |D. World Wide
631 |WWW stands for ? .
Whole Web Web Wide Web
A C.
B. Compact D. Compact
Compactable Compactable )
632 |CD-ROM stands for ? Data Read ) Disk Read
— Read Only Disk Read Only
Only Memory Only Memory
Memory Memory
The first t d A. Assembl B. Machine
633 .e TSt computers Were programme y C. Source code |D. Object code
using ? language language
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called ?

Question
A. Magnetic B. Magnetic C. Magnetic
634 |MICR stands for ? Ink Character |Ink Code Ink Cases D. None
Reader Reader Reader
A.The B. The C. The D.The
programme programme computer computer and
) which arrives |which is the which is the software
635 |What is embedded system? .
by being permanent part of a system that
wrapped in part of the larger system |control the
box. computer or machine machine
636 |When did John Napier develop logarithm? A. 1416 B. 1614 C. 1641 D. 1804
c37 The output quality of a printer is measured A. Dot per inch B Dot persq. |C. Dots. ptjlnted D. All of above
by ? inch per unit time
Th t it of I t A B. Disk C. Serial
638 e_sys em un.l of a persona compu er ' ' D. Modem
typically contains all of the following except: | Microprocessor|controller interface
639 |Examples of output devices are? A. Screen B. Printer C. Speaker D. All of these
is the key to close a selected
640 |drop -down list; cancel a command and close a |A. TAB B. SHIFT C. ESC D. F10
dialog box.
What kind of is both static and -
gar | 0 KINGOTMEMONY 1 bOTh STALIC an@non =4 ram B. ROM C. BIOS D. CACHE
volatile?
ALU and Control Unit jointly k
642 as andton r: nitjointly known A. RAM B. ROM C.CpPU D. PC
All of the following are examples of storage A. hard disk . C. floppy disk i
643 . .
devices EXCEPT ) drives B. printers drives D. CD drives
d to identif h
644 ar.e Hsed to identily a tser who A. Cookies B. Plug-ins C. Scripts D. ASPs
returns to a Website?
is the process of dividing the disk
645 |- P & A. Tracking B. Formatting |C. Crashing D. Allotting
into tracks and sectors?
o6 Large transaction processing systems in A. Online B. Batch C. Once-a-day |D. End-of-day
automated organisations use ? processing Processing Processing processing
What t fvi ter hosts t
647 @ ype,o virus Uses computer nosts to A. Time bomb |B. Worm C. Melissa virus |D. Macro virus
reproduce itself?
refers to electronic trespassing . . . .
648 | . . . .
or criminal hacking? A. Cracking B. Jacking C. Spoofing D. Smarming
A. System B. Application
649 are specific to users’ needs? Y PP C. Assemblers |D. Compilers
software software
physical structure of computer is
650 A. Software B. Hardware |C. Human ware |D. All of these
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Question
devices convert human

called

651 |understandable data and programs into a form |A. Printing B. Output C. Solid state  |D. Input
that the computer can process?
A(n) is a set of programs
designed to manage the resources of a C
5 compu.ter, including starting the computer, A. _application B.compiler in'put/output D. Operating
managing programs, managing memory and suite system
coordinating tasks between input and output system
devices?
63 Whi.ch of the following is a secondary memory A. Keyboard B. Disk . ALU D. All of the
device? above
C. Large
) ) B. Set of g
654 Memory is made up of ? A. Set of wires | | . number of D. All of these
- circuits
cells
The World Wide Web [ ted A.Tim
655 | 1 COr ae Yebwas invente B. Bob Kahn C. Steve Jobs |D. Bill Gates
by ? Berners-Lee
Which of the following types of memory
i ing by acti t D. Cache
656 m.nproveS proces.smg y acting as a temporary A RAM B. ROM C. EPROM
high-speed holding area between the memory memory
and the CPU?
C. Both Logical
) . &l D. None of
657 | Compiler can check ? A. Syntax Error |B. Logical Error |and Syntax these
Error
C. User Name
658 |An Email is a combination of ? A.Nameand |B. Name and and Domain D. User Name
"~ |Address Phone no and User id
Name
The birthpl f the World Wide Web .
659 wai Irthplace o? e wor ae e A. NASA B. Pentagon C. CERN D. Microsoft
A. Unshielded
. B. Unshielded |C. Unshielded |D. Unshielded
660 |UTP stands for Transmission . . . .
Twisted Pair  |Transfer Pair  |T-line Protocol
Protocol
Shortcut key to i t ksheet i . . . .
661 EX:;?;‘ ey to INsert a hew worksheet in A.Shift+F8  |B.Shift+F9  |C.Shift+ F10 |D. Shift+F11
A. Student B. Specialized |C. Serial
i P D. Student Air
Athletic Assault Advanced
662 | SATA stands for . . Travel
Training Tactical Technology L
. . Association
Association Androids Attachment
Th i f data in a logical i
663 | - crranging ot datain alogical sequence s A. Classifying  |B. Sorting C. Summarizing |D. Reproducing

. A. Electronic B. mechanical |C. electronic D. mechanical
664 |Abacus was the first
computer computer calculator calculator
A. Uniform B. Uniform C. Universal D. Universal
665 |USB stands for ? . .
Serial Bus System Bus Serial Bus System Bus

Page460f 7




TestPoint.pk

L JTLskdpss”

Question

C

How to remove all character formats in MS A. Shift + . C. Ctrl +
666 B. Shift + Enter D. Ctrl + Enter
Word? Spacebar Spacebar
D. Common
A. Common B. Common C. Common Business
667 |COBOL stands for ? Book Oriented |Basic Oriented |Boot Oriented Oriented
Language Language Language
guag guag guag Language
668 | LCD stands for ) A.' Liquid Clear B: Light Clear C.. Light Crystal |D. quuld.
- Display Display Display Crystal Display
A. Integrated |B. Intelligent C. Integrated |D. Integrated
669 |ISDN stands for ? Service Digital |Service Digital |Service Double |Secure Digital
Network Network Network Network
670 ‘E")’(L‘;: key is used to enter the current datein |\ .. B. Ctrl+; C. Ctrl+Shift+: |D. Ctrl+Shift+:
B. Yah D. Yet
A. Yet Another ahoo C. Yet Another N
. . Another . . Another
Hierarchical . . Hierarchical i .
671 |YAHOO stands for ? . Hierarchical . Hierarchical
Officio o Officious .
Officious Officious
Oracular Oracular
Oracle Oracle
672 | Which shortcut key is used to Fill Down? A. CTRL+D B. CTRL+T C. ALT+D D. ALT+D
A. Straight B. Structured
& C. Structured |D. Structured
673 |SQL stands for ? Query Query . .
- Query Laison |Query Linear
Langauge Langauge

U B g ITL L TS et gors p LUAG
TestPoint.pk

) C. World Wide )
A. World Wide |B. World Wide D. World Wide
674 |WWWW stands for ? ) Wonderful )
Web Wireless |Web Worm . Web Wrestling
Wine
A. Show C. Show
. B. Utility D. Lock
675 |Window key + U system Desktop
) Manager Desktop
properties (toggle)
is a process of encoding data and ] . L. .
676 | . A. Encryption |B. Formattin C. Transmission |D. Spoolin
information into an unreadable form? yp g P g
L ) A. Triple click |B. Click and C. Double click .
In MS PowerPoint if you want to edit a chart, D. Click the
677 the chart drag the chart |the chart )
you can: ] ] ] chart object
object object object
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680

to ?

the previously
deleted text

last changes

the document
name

Question B C
Shi , Sparkle text, Blinking Back d
erg > el Sparkie text, BlinKing Backgroun A. Word art B. Font styles |C. Text effects |D. Font effects
etc. are known as ?
What is the extension of files created in Ms-
679 . . .
Word 97- 20032 A. dot B. doc C.dom D. txt
] o A. Undelete C. Underline D. Underline
Ctrl + U Shortcut is used in Microsoft Word B. Undo the

the selected
text

689

to ?

the previously
deleted text

last changes

the document
name

) B. It lets you
) A.ltinsertsa . C. It opens
What happens when you click on Insert >> . . choose clip Art | _, D. None of the
681 | . ) clip Art picture . : Clip Art
Picture >> Clip Art? ) to insert into above
into document taskbar
document
Which of the following symbol sets would be
most likely to contain a mathematical symbol D. None of the
682 y ) y A. Symbol B. Wingdings |C. Webdings
such as a degree sign, greater than or equal to, above
or a Greek letter?
If you need to change the typeface of a
683 |document, which menu will you choose in Ms | A. Edit B. View C. Format D. Tools
Word?
B. Customized
) A. Graphics,
In Microsoft Word, A template word C. Auto text
684 text, styles, . D. All of above
stores: ? command entries
macros )
setting
What is the maximum number of lines you can
685 A. B. .1 D.1
set for lines to drop box in Ms Word? 3 > ¢.10 >
In Ms Word, the mailing list is known as the
686 Hing fist W A. Data source |B. Sheet C. Data sheet |D. Source
&7 Background color or effects applied on a A. Reading B. Print Layout |C. Web layout |D. Print
document is not visible in ? View view view Preview
cas Ctrl + K Shortcut is used in Microsoft Word A. Insert Page |B. Insert C. Insert D. Insert
to ? Humber Hyperlink Header Footer
) o A. Undelete C. Underline D. Underline
Ctrl + U Shortcut is used in Microsoft Word B. Undo the

the selected
text

A. Delete the |B. Delete the |C. Delete the
, o ) i ) D. Delete the
Ctrl + Backspace” is used in Microsoft Word single letter single letter word just .
690 ) . word just after
to ? just before the |just after the |before the
the cursor
cursor cursor cursor
The main elements of the are the . C. Word .
. . ; — A. Word B. Formatting D. Graphics
691 |insertion point, end mark, mouse pointer, document
toolbar toolbar . toolbar
rulers, scroll bars, and status bar. window
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What is the Name of the Feature that will

692 |allow you to take a step backward if you've A. Redo B. Cancel C. Undo D. Backspace
made a mistake?
To get to the ‘Symbol’ dialog box, click on the
603 | 08 Y ) & , A. Insert B. Format C. Tools D. Table
menu and choose ‘Symbol’.
InP Point Speaker’s inf tion i C. Speaker’s D. Both B. and
coq N POWer f)|n peaker’s information is A Nav Panel B. Notes p
expressed in ? Panel C.
C. Start
_ . B. Save the file |Outlook and D. Thisis an
cos In order to email a Word document from A. File >> as an email ttach the fil impossible
within MS Word 20167 Share >> Email i z.ac N I © P .
attachment while openin |operation
Word
Ctrl + 1 Shortcut is used in Microsoft Word . C. Save D. Close
696 A. ltalic B. Left Indent
for ? Document Document
The , or typeface, defines the
i ) D. paragraph
697 |appearance and shape of letters, numbers, A. font B. font size C. point ]
. . formatting
and special characters in Word Document.
D. On the
_ ) ] A. On the left |B. On theright |C. On the top
Where can you find the horizontal split bar on . . ] bottom of
698 of horizontal |of horizontal |of vertical i
MS Word Screen? vertical scroll
scroll bar scroll bar scroll bar bar
659 Ctrl + B Shortcut key is used in Ms Word A. Search the |B. Paste the C. Bold the D. Open the
to ? selected text |selected text |[selected text |[specified file
A. Choosing C. Click X D. From File

700

You cannot close MS Word application
by 7

File menu then
Exit submenu

B. Press Alt+F4

button on title
bar

menu choose
Close submenu

Gutter position can be set in followin . C. Left &
701 " Y P .I I ! Wing A. Left & Right |B. Left & Top D. Left Only
positions in Word Document. Bottom
A. the Save C. the Save As
o To save an existing document with a different |button on the |B. Save on the |button onthe |D. Save Ason
file name, click Standard File menu Standard the File menu
toolbar toolbar
B. click the D. click the
C. press the
. ) Undo button Bullets button
03 To instruct Word to stop bulleting paragraphs, |A. press the on the backspace key on the
do any of the following except enter key twice to remove the .
Standard Formatting
bullet
toolbar toolbar
What is placed to the left of horizontal Il A. Tab sto B. View
704 } P © Jeft orhorizontal scro P C. Split buttons |D. Indicators
bar in Ms Word buttons buttons
The indents all the lines of a A. First Line B. Hanging C. Left Indent |D. Right Indent

705

paragraph except first line in Ms Word.

Indent Marker

Indent Marker

Marker

Marker

Page 49 of 71




TestPoint.pk

Question

The paragraph mark (1) is a formatting mark

706 . . . . Shi
that indicates where the was pressed A. Tab key B. Spacebar C. Enter key D. Shift key
The file type indicates the file is a
707 vp A..msw B. .wor C..wrd D. .docx
Word document.
C. 1.25-inch D. 1-inch left
) , A. 1-inch left, |B. 1.25-inch left and right |and right
Word is preset to use standard 8.5-by-11-inch | . . . .
708 . . right, top, and |left, right, top, |margins and 1- |margins and
paper with margins? . .
bottom and bottom inchtopand |1.25-inch top
bottom and bottom
Whlch simplifies th(_a pr.ocess o.f for.mattmg text B. Format C. Fontdialog |D. None of the
709 |if the same formatting is required in more than |A. Auto Text ]
. Painter box above
one location?
A. Task D. Operatin
710 |File Management is responsibly of ? B. RAM C. BIOS P &
Manager System
hich of the following should if D-A
which orthe ? OV\,”ng shauidyou ?‘Se you A. The slid B. The add a . . presentation
711 |want all the slides in the presentation to have . . . C. Outline view ]
layout option |[slide option design
the same look?
template
A. Triple click |B. Click and C. Double click
_ P D. Click the
712 |In order to edit a chart, you can ?|the chart drag the chart |the chart .
. . . chart object
object object object
W.hIC.h of the following prow.des a mgans of A Slide with . . D. Audience
713 | printing out feature notes with a miniature . . B. Outline view |C. Notes page
. . animation handout
slide on a printed page?
When using Pc‘>we.rP0|nt, to play a PowerPoint A. View, slide ' ' C. View, slide ' .
714 |show for previewing the show, B. View, slide D. View outline
sorter show
select ?
What is the term used when a clip art image ) D. All of the
715 ! . u. W b art imag A. Group B. Flip C. Rotate
changes the direction of faces? above
- o C. Replacin
Which of the following is an example for A. Underlining |B. Adjusting I,D ) 8
716 ] ) ) two -’s with an |D. All of above
automatic text formatting ? hyperlink extra space
em hyphens
The best way to insert a new slide in a . L C.Slide show |D. Slide sorter
717 . A. Normal view |B. Special view | )
presentation is to use the ? view view
18 In Ms PowerPoint Ellipse Motion is a A. Design B. Color C. Animation |D. None of
predefined ? template scheme scheme these
.. B. Speaker C. Meetin L
Slide show options available to the presenter |A. Transitions P ) 8 D. Navigation
719 | , notes minder
include all of the following except command commands
command command
B. Raster .
. A. Vector ) C. Color D. Negative
720 |COR Corel Draw is an example of ? ] graphics or . .
graphics ) graphics films
bitmaps
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A number system that has eight different

721 |symbols to represent any quantity is known A. Binary B. Octal C. Decimal D. Hexadecimal
as.....?
Human beings are referred to as Homosapiens, .
722 . . g. - . P A. Monitor B. Hardware C. Robot D. Computer
which device is called Sillico Sapiens?
Which PowerPoint feature allows the user to B. Transition . . .
723 I W ! ! ) W ! AutoContent ) C. Chart Wizard |D. Animations
create a simple presentation quickly o Wizard
- |Wizard
The protect document option can be found in ] .
724 P y p I und A. Review B. Insert C. References |D. Edit
the tab of the Ribbon ?
Short Key of Rename any object in computer
725 Y y o5l P A.F2 B. F1 C. Ctrl+w D. Ctrl+F
System?
The term chart wizard data in MS is refer . . |B. Horizontal D. None of
726 A. Vertical axis . C. Bar data
to ? axis these
Communication between a computer and a
727 |keyboard involves A. Automatic |B. Half-duplex |C. Full-duplex |D. Simplex
transmission.
In a computer spreadsheet, block of cells is .
728 called P P 5 A. Workbook |B. Function C. Column D. Range
In a computer spreadsheet rows are labeled C. by cell
729 P P A. by letters B. by numbers y D. by symbols
? references
A. Utilit B. Multimedia |C. Operatin
730 |Mac is a ? ¥ P g D. Windows
- Program Software system
C. Clicking
three times
) ) _ A. Using the B. Pressing Ctrl | . .
Which of these will not select all the cellsin a , with the right |D. None of
731 Edit — Select + A onthe
document ? mouse button |These
All menu keyboard )
in the
spreadsheet
Which is termed as the fastest Computer in
732 . i B. LTi -2 D.
the World recently in June 20207 A. sequoia Fugaku C. Tianhe-2A Frontera
Brain also known as the first computer virus
for MS-DOS was written by two brothers . . .
733 , , y . A. Malaysia B. India C. Pakistan D. Iran
belonging to which among the following
countries?
In which tab Hyphenation options are .
734 ) vp P A. Insert B. Page Layout |C. References |D. Mailings
available?
A collecti f t that trol . - .
cotiec |or.1 OF system programs a. controts A. System B. Operating | C. Utility D. Device
735 |and co-ordinates the overall operations of a .
. software system program driver
computer systemiscalled  ~~ ?
. A. Arithmetic |B. Array Logic |C. Application |D. None of
736 |ALU is ? . . . . .
Logic Unit Unit Logic Unit above
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is a combination of hardware and

- — C. Expansion D. Digital
737 |software that facilitates the sharing of A. Network B. Peripheral P . &
. . . . board device
information between computing devices.
A. Extended B. Extended C. Extended D. Extended
Binary Coded |Bit Code Bit Case Binary Case
738 |EBCDIC stands for ? Decimal Decimal Decimal Decimal
Interchange Interchange Interchange Interchange
Code Code Code Code
D. it only
A.acopyis B. it must be . needs a name
L . . . C.itdoesnot | . .
739 |When a file is saved for the first time? automatically |given a name if it is not
. . e s need a name )
printed to identify it going to be
printed
MIS is designed to provide information needed
740 ! .|g . .p v _I I A. Consumers |B. Workers C. Foremen D. Managers
for effective decision making by?
B. Input is
A. Input is first P C. Output is
never . .
741 |In analogue computer ? converted to displayed in D. All of above
. converted to L
digital form L. digital form
digital form
A t that t ti
742 compu.er prograrn @ conver s an entire A. Interpreter |B. Simulator C. Compiler D. Commander
program into machine language is called a/an
. - . C. Arithmetic
Which of the following is also known as brain B. Central

medium?

743 A. Control unit ] .. |and language |D. Monitor
of computer? Processing unit|
unit
is the k t th
744 |——————'5 IN€ KEY W Lse torun the A. SHIFT B. TAB C. ENTER D. CTRL
selected command?
is computer software designed
too te th ter hard dt A. Application |B. System D. Operatin
a5 [:')era e the computer 'ar war'e ar'w o pp Y C. Software p g
provide platform for running application software software system
software?
i A. Secondary |B. Primary C. Both A. and
746 |RAM is an example of ? D. none
memory memory B.
a7 The CPU and memory are located on A. expansion |B. C. storage D. output
the ? board motherboard |device device
Codes consisting of lines of varying widths or A an ASCII B.amagnetic |C.an OCR
748 |lengths that are computer-readable are known D. a bar code
as 5 code tape scanner
ASCIL di tem that A. 256 B.512 C.1024 D. 128
is a coding system tha
749 . &y different different different different
provides ?
characters characters characters characters
Which of the following is not a storage
750 & & A. Hard disk B. Flash drive |C. DVD D. scanner
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The thing that tually terminat A. Memory or C. CD drives
751 |1 e ‘mg at eventually terminates a worm . y B. Time. D. CD-RW.
virus is a lack of: disk space. space.
The first electroni t developed |A.J.V.
752 |1 IISEEIECIronic computerwas develope B. Bill Gates C.Simur Cray |D. Winton Serf
by 7 Attansoff
y ) A. Maximum B. Minimum C. Main Area .
753 |“MAN”" stands for ? Metropolitan
Area Network |Area Network |Network
Area Network
o In which type of computer, data are A. Analog B. Digital C. both D. Hybrid
represented as discrete signals? computer computer ' Computer
What' feature adjusts the, top and bOttom A. Vertical B. Vertical C. Dual D. Horizontal
755 |margins so that the text is centered vertically |, tifvi diusti teri teri
on the printed page? justifying adjusting centering centering
A(n) program is one that is
756 |ready to run and does not need to be altered |A. Interpreter |B. High level C. Compiler D. Executable
in any way.
A. C.
L B. Compact D. Compact
157 One of the popular mass storage device is CD |Compactable Data Read Compactable Disk Read
ROM. What does CD ROM stand for? Read Only Disk Read Only
Only Memory Only Memory
Memory Memory
e Which of the following is the most powerful A. Mainframe |B. Mini C. Micro D. Super
computers? Computer Computers Computers Computers
" A. Wireless B. Wireless C. Wireless D. None of the
759 |Wifi Stands For ? L L .
Fidelity functioning function above
760 |Windows 10 was launched in which year? A. 2012 B. 2013 C. 2015 D. 2014
Computers that are used in large organizations
61 such as insurance companies and banks, A. mainframe |B. super C. hybrid D. desktop
where many people frequently need to use computers computers computers computers
same data, are ?
is the process of making . .. . .
762 | T R A. Creating B. Editing C. Cutting D. Forming
changes to a document’s existing content.
Which | i dt t i .
763 EXC;? angUage Is Used to create macros in A. Visual Basic [B.C C. Visual C++ |D. Java
A. Output B. Output C. Optical D. Optical
764 | OCR stands for ? Character Character Character Character
Recorder Recognition Recorder Recognition
. A. Mini B. Micro C. Mainframe |D. Super
765 is the largest computer.
Computer Computer Computer Computer
C il dint t A. High-level
766 | O PrCTS ANGHINTErpreters are 8 B. Codes C. Programs D. Mnemonics
themselves: ? language
A. Bit Coded B. Binary C. Bit Coded D. Binary
767 |BCD stands for . .. .. .
Decimal Coded Digit Digit Coded Decimal
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word looks more evenly spaced. What is that
feature called?

Question B C
D. Active
A. Active Start |B. Action Start |C. Active WV
768 | ASP stands for Standalone
Pages Pages Server Pages
Pages
i t ft to facilitat D. MS
769 | T 1° system sottware to factitate A. MS Word B. Editors .... |c. PowerPoint .
editing of text and data? publisher
770 |How many ways you can save a document? A.3 B.4 C.5 D.6
What is the maximum number of columns that
771 .
can be inserted in MS Word Table? A. 35 B. 45 €55 D. 63
A. Accelerated |B. Advanced C. Accelerated |D. Advanced
772 | AGP stands for ? . ]
Group Part Graphics Port  |Graphics Port |Group Part
A. New B. Network C. Network
. . . D. Network
773 INOS stands for ? Operating Operating Operating L
Original System
System Source System
H h Iculator in th
774 ?W many menus has a calculator in the A. Three B. Five C. Four D. Two
windows?
A. Process D. Public
. B. Public C. Public Serial .
Switched i Switched
775 |PSTN stands for ? Switched True |Telephone
Telephone Telephone
Network Network
Network Network
. C. An output
776 |CPU is an example of ? A. Software B. A program unit D. Hardware
Which of the following tab i t ti
777 'ch of the Toflowing ta .IS not present in A. Web B. Index C. Search D. Contents
the control panel program in the start menu?
A. Windows B. Windows C. Windows D. Windows
778 |WMA stands for ? . . - . . . .
Medium Audio |Media Video |Media Audio |Medium Video
A. Show
. C. Find D. Minimize
779 |Window key + M system B. Help ..
. Computers all applications
properties
A(n) system is a set of Programs
280 cothélrwlng instructions that coordinate all the A. Operating |B. Disk- Based C. D. Plateform
activities among computer hardware Management
resources?
) ) ) ) B. click the C. double click
to preview a motion path effect using the A. click the )
781 o show effect the motion D. all of above
custom animation task pane, you should play button
button path
The feature of Word that automatically adjusts
the amount of space between certain
782 |combination of characters so that an entire A. Spacing B. Kerning C. Positioning |D. Scaling
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Question B C
) ) B. Update the |C. close the
In Microsoft Word shortcut key CTRL+W is A. open the D. None of
783 L current Web  current
used for ? Print dialog box ) these
page window
A. Paste Texts |B. Paste
: s . . C. Paste Tables
Ctrl + V Shortcut is used in Microsoft Word in the Images in the ) D. None of the
784 o o at the middle
to ? beginning of  |beginning of above
of Document
Document Document
B. Double click
A. Double click the rieht C. Double click
785 | To AutoFit the width of column? the left border & the column D. All of above
border of
of column header
column
6 Where can you change the vertical alignment |A. Paragraph  |B. Formatting |C. Page Setup |D. Standard
in Microsoft Word? dialog box toolbar dialog box toolbar

A. Margin that

B. Margin that

C. Margin that

D. Margin that

i . is added to is added to the
) . is added to the |is added to . :
787 |What is gutter margin in Ms Word? ) . . the binding outside of the
left margin right margin ]
. e side of page page when
when printing |when printing e o
when printing |printing
Which of these toolbars allows changing of . C. Print D. None of
788 . .
Fonts and their sizes in Microsoft Word? A. Standard B. Formatting Preview these
How many different positions can you set for
789 Al B.2 . D.4
drop cap in Ms Word? c3
If you will be displaying or printing your
document in Ms Word on another computer, |A. Embed True C. Save True
790 ,u I pu B. Embed Fonts D. Save Fonts
you’ll want to make sure and select the Type Fonts Type Fonts
option under the ‘Save’ tab.
What is a portion of a document in which yo
791 ! . port! . ) . n whichyou A. Page Setup |B. Section C. Page D. Document
set certain page formatting options?
197 Ctrl + L Shortcut is used in Microsoft Word A. Left Align B. Left Indent C. IncreasTa D. Decrea.se
to ? Left Margin Left Margin

A. Paste Texts |B. Paste
. N . . C. Paste Tables
Ctrl + V Shortcut is used in Microsoft Word in the Images in the ) D. None of the
793 o 2 at the middle
to ? beginning of  |beginning of above
of Document
Document Document
A. Delete the |B. Delete the |C. Delete the |D. Delete the
o “Ctrl + Delete” Shortcut key is used in Ms word just word just single letter single letter
Word to ? after the before the just after the |just before the
cursor cursor cursor cursor
The header and footer command are located .
795 A. Home B. Insert C. View D. Header

on the tab in Ms Word?
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Wh N inki ted. Word f ts th A. italicized B. italicized C. underlined |D. underlined
en a hyperlink is created, Word formats the
796 vP and colored and colored and colored and colored
Web address as ?
red blue red blue
. . . D. to quickl
. ) A. to quickly B. to quickly C. to quickly d y
What is the use of Document Map in Ms . . . correct
797 format the print required |navigate the ]
Word? spelling
document page document )
mistakes
A. Hypertext B. Hypertext
vp P C. Hypertext
Transfer Transfer D. None of
798 |HTTPS stands for ? Transfer
- Protocol Protocol these
. Protocol start
Section Secure
Insert Date, Format Page Number, and Insert
. B. Header and .
799 |AutoText are buttons on the A. Formatting C. Standard D. Edit
. Footer
toolbar in Ms Word.
400 The keyboard F12 key in Ms Word opens A. Save As B. Open dialog |C. Save dialog |D. Close dialog
a ? dialog box box box box
formatting is the process of
changing the way letters, numbers, .
801 8 g. Y A. Document |B. Character |C. Paragraph |D. Object
punctuation marks, and symbols appear on the
screen and in print.
500 Ctrl + N Shortcut key is used in Ms Word A. Save B. Open C. New D. Close
to ? Document Document Document Document
A. Save tab on
A feature of MS Wo.rd that saves th‘e ' . : B. Save As C. Both of D. None of
803 |document automatically after certain interval |Options dialog | .
. . dialog box above above
is available on ? box
- Ctrl + O Shortcut key is used in Ms Word A. Save B. Print C. Close D. Open
to ? Document Document Document Document
D. Smaller
A. the same B. More C. Less .
fonts in order
characters per |characters per |characters per .
. . . . to fit the same
. o ) . line with the line than the |line than the
805 |A document in portrait orientation prints: amount of
same same same
. . . characters per
documentin |documentin |documentin ] .
line with
landscape landscape landscape
landscape
The ribbon in Word 2007 ists of i B. Smaller
a0 | 1€ ribbon in Wor consists of aseries |, . ‘ C. Tabs D. lcons
of ? ribbons
507 How can you break the current column and A. Press Ctrl + |B.Press Alt+ |C.Press Ctrl+ |D. Press Alt +
start a new column immediately in Ms Word? |Shift + Enter Enter Enter Shift + Enter

508 Which of the following do you use to change  |A. formatting |B. page setup |C. Standard D. paragraph

margins in Ms Word? toolbar dialog box toolbar dialog box

. A. it appears B. it is inserted

What happens when you insert an AutoShape . . D. all of the
809 : . near the in its default  |C. is selected

by simply clicking in the document? . . . . above

insertion point |size
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Question
Which keystroke is used for updating a field in

812

The Footnote Text style defines characters as

paragraphs as

paragraphs as

paragraphs as

810 Ms Word? A.F6 B. F9 C.F11 D. F12
A. Hypertext  |B. Hypertext |C. High

811 |HTTP stands for ? transfer Transfer transfer D. None
processor Protocol protocol
A. 12-point B. 10-point C. 12-point D. 10-point
Times New Times New Times New Times New
Roman and Roman and Roman and Roman and

paragraphs as

ragCco770

?
single-spaced |double-spaced |double-spaced |single-spaced
and right- and left- and right- and left-
aligned aligned aligned aligned
Pressing the key instructs Word to
813 |replace an AutoText entry name with the A. fl B. 2 C.f3 D. f4
stored AutoText entry
In MS-Word to insert Mathematically sign we . .
814 . ysig A. Symbol B. Objects C. Shapes D. Equation
use option:
Which of the followi h i . . .
) ich of the fo OV\{m_g by.pas.s.est € Prmt A. File, Print B. The print . i
815 |dialog box when printing individual slides or an . C. File, print D.Ctrl+P
. L . Preview button
entire presentation in Powerpoint?
y o A. Clicking the
ou can c.reate anew prtesentatlon n . new button on [B. Clicking file, |C. Clicking file |D. Pressing ctrl
816 | PowerPoint by completing all of the following
the standard  |new open +N
except ?
toolbar
B. Press the
A. Click the . C. On the view
) shift key and ]
| Lview. h v ch . outline tab click the menu, click
n normal view, how can you quickly change to )
817 . youd y 8 and select slide sorter, D. All of above
handout master view? handout ,
handout . and click
i master view
master view handouts.
button
Material consisting of text and numbers is best ] . . . D. All of the
818 g A. A table slide |B. A bullet slide |C. A title slide
presented as ? above
the slide that is used to introduce a topic and . ) ) ] ]
819 L P A. table slide |B. graphslide |[C. bulletslide |D. title slide
set the tone for the presentation is called the
B. To copy
formattin
. & C. To change .
A. To paint from one the D. To paint
rett object or retty pictures
820 |Format painter in PowerPoint? p. ¥ ) ) background pretty b
picutures on  |piece of text on background
) color of your )
your slides and then i of slides
. slides
apply it
elsewhere
Which view in PowerPoint can be used to . . D. Notes page
821 A. Normal B. Slide show |C. Slide sorter . pag
enter speaker comments? oo o view
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Question
PowerPoint can display data from which of the |A. Equation
822 . . pray . . g Organization |C. Photo album |D. All of these
following add-in software of MS- Office? editor
chart
. B. From .
] o A. Using the . D. Using the
Which of the following is not a way to create a . scratch (create |C. Using a
823 . Scan-In Slides auto content
new presentation? a blank template )
feature . wizard
presentation
B. Row D. None of
824 |What displays the content of active cell? A. Name box ) C. Formula bar
headings these
) o A. Horizontal |B. Open C. Vertical D. Closed
Microsoft Office is an example of
825 3 5 market source market source
' software software software software
Which Network topol ds HUB for it D. Star and
626 |c‘ etwork topology needs orits A Bus B. Ring C. Star
working? Bus both
] ) A. Anewslide |B. Anewslide |C. Anew  slide
If you select first and second slide and then .. .. _
. . . lisinserted as |isinserted as |isinserted as |D. None of
827 |click on New Slide button on toolbar, what will L . L. ] S
second slide in |third slide in  [first slide in above
happen then ? ) . .
presentation |presentation |presentation
" . _ A. Open a new |B. Create a C.Create a D. Create a
828 |A “Ctrl + Enter” command will ? .
- document new page new Paragraph |new line
hich of the following is not a valid Zoom
a9 | 1o owie s ot e val A.10 B. 100 C. 300 D. 500
percentage in Excel?
Computer spreadsheet capability to allow a B. Data
830 | pie chart to be generated from data in A. Decoration ' C. Functions D. Charting
. appearance
spreadsheet cells is termed as ?
Linus Torvalds developed which of the . .
831 . P A. LINUX B. iOS C. UNIX D. Windows
following systems?
C t dsheet cell that is highlighted B. Cell
omputer spreadsheet cell that is highlighte . .
832 | P P . gnie A. Active cell |containinga C. Locked cell |D. Cell
with a heavy border is a ?
formula
Which of following is not an element of . .
833 & . A. Pencil work |B. Active cell C. Menu bar D. Workbook
computer spreadsheet interface?
Who is the founder of audio and video A. Steve B. Steve C. Michele .
834 ] ) . D. Eric Yuan
conferencing tool Zoom? Woznaik Ericson George
D. click the
. C. click the .
. B. click the . Display
A. position the edit comment
. . comment comment
835 |How we can view a cell comment ? mouse pointer commands on
command on command on
over the cell . the Insert .
the view menu the window
menu
menu
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Question

H I i Mi ft Excel D. None of
536 | HOW many columns are in one Microsoft Excel | 65,536 B. 16,384 C. 1,048,576 B
sheet? Above
837 |What is the shortcut key to display field codes? |A. Alt + F9 B. Ctrl + F9 C. Shift + F9 D. Space + F9 A
Which is the bi t pl in th
gag | | comPany s te BIEGESt PIAYEriNthe T Motorola  |B. IBM C. Intel D. AMD C
microprocessor industry?
/( /L j /( -
L) —
S e I L LSS bty gorts p LU PG
2 «@ T @
tPoint.pk -
TestPoint.p -
D. Menu
. . A. Command |B. Graphical . . .
839 | What type of operating system MS-DOS is? . C. Multitasking |Driven A
Line Interface |User Interface
Interface
D. Video
. A. Video B. Visual C. Volatile ! .
weveRls__ ot Graphics Array |Graphics Array |Graphics Arra Graphics A
i [ i
P v P y P y Adapter
Coded entri hich d to gai t C. Securit
gag | 00 CC GNErIES WRICh are used to gain access to A. Entry codes |B. Passwords Y D. Code words | B
a computer system are called ? commands
Which of the following i t of the Central D. Arithmetic
842 I 0_ € _0 OWIng 15 a part ot the Lentra A. Printer B. Key board C. Mouse ) . DA
Processing Unit? & Logic unit
Wh dat d tored wh A. Main B. Secondar D. Programme
o3 ere are data and programme stored when y C. Disk memory g A
the processor uses them? memory memory memory
A. American B. American C. American D. American
Stable Code Standard Case |Standard Code |Standard Code
844 |ASCII stands for ? for for for for C
International |Institutional Information Interchange
Interchange Interchange Interchange Information
In latest ti ters, th B. Sequentiall C. Both
n latest generation computers, the . .
845 | .g P A. Parallel only g y sequentially |D. All of above | C
instructions are executed ? only
and parallel
A computer program that translates one
846 |program instructions at a time into machine A. Interpreter |B. CPU C. Compiler D. Simulator A
language is called a/an ?
translates and executes . .
847 | T ——— ——— | ) . A. Compiler B. Interpreter |C. Linker D. Loader B
program at run time line by line?
Is the functi | key to displ
848 > the tnctonatkey to dispiay 1 a fs B. F6 C. F9 D. F12 D
save-as box?
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849

Question

The is the amount of data that
a storage device can move from the storage
medium to the Computer per second?

A. data
migration rate

B. data
digitizing rate

C. data
transfer rate

D. data access
rate

given for free.

copyright laws.

o A. Secondary |B. Primary C. Main D. Both (1) and
850 | Magnetic disk is an example of ?
memory memory memory (2)
is the science that attempts B. D. Artificial
851 |to produce machines that display the same A. Nanoscience |Nanotechnolog |C. Simulation |intelligence
type of intelligence that humans do? y (A1)
C. Sharin
, B. It is "8 Ip itis not
A. ltis not ) copyrighted i
o ) ) ] . unethical . ) unethical
Why is it unethical to share copyrighted files  |unethical, files without
852 | ) o because the .. because the
with your friends? because it is . . permission . .
files are being files are being
legal. breaks

given for free.

i is di C.The
Whlch pa_rt of the f:omput.er is dlr.ectly B. The main D. The
853 |involved in executing the instructions of the A. The scanner secondary
storage processor
computer program? storage
The computer abbreviation KB usuall . -
854 P y A. Key Block B. Kernel Boot |C. Kilo Byte D. Kit Bit
means ?
When a logic bomb is activated by a ti A- Time- D. Trojan
en a logic bomb is activate a time- , . .
855 g . Y related bomb |B. Virus. C. Time bomb. :
related event, it is known as a ? horse.
sequence.
os6 computers operates A. Portable B. Hybrid C. Analog D. Digital
essentially by counting? computer computer computer computer
857 |Which of the following is a network topology? |A. LAN B. WAN C. MAN D. BUS
858 |C’ in CPU denotes ? A. Central B. Common C. Convenient |D. Computer
Which of these is not a means of personal B. Instant D. Electronic
859 o ) A. Chat ) C. Insta notes .
communication on the internet? messaging mail

What is the name given to those applications

860 |that combine text, sound, graphics, motion A. Motionware |B. Anigraphics |C. Videoscapes |D. Multimedia
video, and/or animation?
B. Computers
A. Computers .
are reliable )
are 100% C. Computer is
. |because they )
accurate but it use electronic never tired
861 |Identify the true statement about computer.  |can suffer and does not |D. All of above
component
from GIGO . suffer from
which have
(Garbage In boredom
very low
Garbage Out) )
failure rate
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Question
Which of the printers used in conjunction with |A. Daisy wheel ) ) ] D. Thermal
862 ; . B. Line printer |C. Laser printer|
computers uses dry ink powder? printer printer
What is the smallest and largest font size
863 |available in Font Size tool on formatting A.6and 72 B. 6 and 68 C.8and 72 D.7and 72
toolbar?
Which is not a nick f i f
864 Ic, one s not a hickname ot a version o A. Honeycomb |B. Cupcake C. Gingerbread |D. Muffin
Andriod?
A. Android 4.0
The first completely 64-bit compatible version B. Android 5.0 |C. Android 3.0 |D. Android 2.3
5 of Android was ? Ice Cream Lollipo Honeycomb Gingerbread
' Sandwich Pop Y 8
A is a collection of data
866 |organized in a manner that allows access, A. File B. Recordset |C. Database D. document
retrieval and use of that data.
Which of the followi tate has b declared
867 ¢ .0, .e 0. c.>W|ngs atehas been declared | a. Kerala B. Karnataka |C. Delhi D. Mumbai
as India’s first digital state ?
268 | DVD Stands For- ) A. D|g|.taI . B. DlglFaI . C. Digital ' D: Dlglta!
- Versatile Disk |Versatile Drive |volume disk Video drive
is the shortcut key to display A. Shift + B. Ctrl + C. Alt +
869 - - D. None
active cell in Excel. Backspace Backspace Backspace
Which i th for functional B. Application |C. Low-level D. High-level
670 ich is another name for functiona A Machine pp g
language? language language language
871 |RJ45 UTP cable has cables. A. 2 pair B. 3 pair C. 4 pair D. 5 pair
- Which file format can be added to a A B. iy C. wav D. All of the
PowerPoint show? -Ipe B o above
A fixed territory in which authorit b
873 |xe. er.r| ory inwhich-authortty can be A. juristic B. jurisdiction | . D. juristic
exercised is? jurisprudence
What is the default b f li tod f
674 atis 'e efault number of lines to drop for A3 8.7 .10 D. 15
drop cap is ?
A C it B.C C. Compact
875 |CD stands for ? . omposite . ompany . P D. Criteria Disk
- Disk Disk Disk
B. Automatic |C. Automatic
A. All Disc D. Automatic
876 |ADF stands for ? Document Document . .
Feeder . Disc Finder
Feeder Finder
A. C.
. B. Transfer L. D.
Transmission Transmission .
877 | TCP stands for ? . Control Transmission
- Centric Control
Protocol Control Process
Protocol Protocol
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Question

A. Wide B. World C. Wide D. Wide

interactive interactive internet interact

Network Network Network Network
878 | WINDOWS stands for ?

- Development |Development |Development |Development
for Office for Office work |for Office work |for Office work
work solution |solution solution solution

- In Microsoft Word, Ctrl+1 is used for which of |A.To set 1.5 B. Toset 0.5 C. Double line |D. Single line
the following? line spacing line spacing spacing spacing
In Excel which key i dt th I
ggo ||| o WhiCh Keyls usedtoopenthe excel | a ohift+F6  |B. Shift+F3  |C. Alt+Shift+F3 |D. Alt+Shift+F6
formula window?
A. Address B. Allied C. Address D. Address
881 |ARP stands for ? resolution resolution resolution rectification
protocol protocol process protocol
. B. Dynamic .. ..
A. Dynamic Host C. Digital Host |D. Digital Host
882 | DHCP stands for ? Host Control . ] Configuration |Control
Configuration
Protocol Protocol Protocol
Protocol
C. Show
) A. Windows B. Utility
883 |Window key + E Desktop D. Run
Explorer Manager
(toggle)
Th is fi that tai
gea | | o————— IS Tirmware that contain a A. POST B. BIOS C. CMOS D. DIOS
computer S startup instruction.
Keyboard used with IC t A. 84 to 85 B. 101 to 105 D. none of
45 | K€Yboard used with personal Computer C both a &b
have keys? keys keys these
A character that is raised and smaller ab . . . .
g6 |~ (oo .er . at1s raisedand smafier above A. Raised B. Outlined C. Capscript D. Superscript
the baseline is known as ?
Which shortcut key is used to spell check in
88
7 Microsoft Word? A F1 B. F2 C.F7 D.F9
Ctrl + W Shorteut | din M ft Word A. Save and B. Save and C. Save and D. Without
r ortcut is used in Microsoft Wor
888 to 5 Print the Close Word Close Save, Close
' Document Application document Document
A. Click on
Switch B. Press
o9 After typing header text, how can you quickly |between PageDown key |C. Both of D. None of
enter footer text? Header & and type the | above above
Footer then text for footer
type the text
A. You can set C. You can set
. B. You can set . D. You can set
different . different page | .
) ) ) ) different different
Which of the following statement is false in header and number
890 | . header footer header footer
Microsoft Word? footer for last formats for .
for even and ] for first page
page of a different )
] odd pages ] of a section
section sections
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Question

The minimum number of rows and columns in

to automate

891 . . . .
Microsoft Word document is ? A.land1 B.2and1 C.1and2 D.2and2
) . D. Tables and
Where can you find the Draw Table tool A. Formatting |B. Drawing C. Standard )
892 R Formatting
button in Microsoft Word? toolbar toolbar toolbar
toolbar
In Ms Word, Which of the following option is .
893 . . ! _ Wing optiont A. Chart B. Graph C. Clip Art D. Word Art
not available in Insert >> Picture?
. . A.
In Ms Word the AutoCorrect was originally ‘ B. Short, - D. None of the
894 |designed to replace words as you |Grammatically . C. Misspelled
) repetitive above
type. incorrect
A. Using your
mouse or C. Assign a
g5 Which of the following is the Second Step in keyboard, B. Give the keyboard D. Start
Creating a Macro? perform the macro a name |shortcut to recording
task you want the macro

Ctrl + M Shortcut i din Mi ft Word A. New B. Close
896 | T orteut 1s usedin Wiicroso or C. Right Indent |D. Left Indent
to ? Document Document
Ctrl + W Shorteut i din M ft Word A. Save and B. Save and C. Save and D. Without
r ortcut is used in Microso or
897 to 5 Print the Close Word Close Save, Close
' Document Application document Document
A. Moves the |B. Movesthe |C. Moves the
408 “Ctrl + Home” Shortcut key is used in Ms Word |cursor to the |cursor tothe |cursortothe |D. All of the
to ? beginning of |beginning of | beginning of |above
Document Line Paragraph
] A. format, B. insert, .
Which menu do you choose to shade words C. view, D. none of the
899 borders and borders and .
and paragraph? ) . shading above
shading shading

900

On the works cited page, list works by each
author’s last name and the title of

A. italicize or

B. boldface or

C. underline or

D. enlarge or

underline italicize boldface underline
the work?
D. to allow
A. to enhance C. to make age headers
] ] ] B. to mark the Pag
001 What is the purpose of inserting header and the overall starting and large and footers
footer in document? appearance of ) 8 document appear on
ending of page
the document more readable |[document

when printed
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A letterhead should contain all of the following

A. full street

legal name of

Question
B. when the .
. . . D. in response
. . A.toinserta |insertion . .
Press the enter key in all of the following . . C.to begina to certain
902 | | blank line into |point reaches
circumstances except . new paragraph |Word
a document the right
. commands
margin
In MS Word, Which of the following
commands should you always use to check A. find B. Replace C. Spelling and
903 | y o y P P g D. Thesaurus
mistakes before submitting a document to command command Grammar
others?
Ctrl+S Shortcut key is used in Ms Word . . D. Spellin
904 v 1s usedt A. Scenarios B. Size C. Save P g
to ? Check
A is a collection of Predefined .
905 . A. feature B. hyperlink C. palette D. theme
design elements and color schemes.
906 |Which file start d? A. B. Word.exe c. D. Msword.exe
ich file starts ms word? . . . .
Winword.exe Word2003.exe
Y d to jump to the next column breaki C. Break
ounee ojumF_) O the hext column ) rea ng A. Pressing B. Pressing command
907 |current column right at the cursor position. ) D.Bothbandc
Ctrl+Enter Alt+Shift+Enter |from Insert
How can you break column?
menu
C. complete

D. None of the

908 B. logo the company,
EXCEPT address g pany above
group, or
individual
When you point to the corner of a . .
909 . - . - . - . -
table, the table move handle appears. A. upper-right |B. lower-left C. lower-right |D. upper-left
C. the text
A. the first B. the text .
. entry is pasted
Wh int to a text entry in the Offi several entryis into the
} enyoupoin .oa ex ?n ryin the Litice characters of |deleted from D. all of the
910 |Clipboard gallery in the Clipboard task pane, ] . document at
text in the the Office . above
. . . the location of
item display |Clipboard ) )
. the insertion
as a ScreenTip |gallery i
point
A. Double click |B. Drag the C. Right click
H tab st kers f the tab marker |tab sto the tab sto
911 OW Can you remove tab stop markers rrom p P D. A” Of above
ruler? and choose marker out of |marker and
Clear All the ruler choose remove
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Question

A screen element of MS Word that is usually

D. All of the
912 |located below the title bar that provides A. Menu bar |B. Tool Bar C. Status Bar b
categorized options is ? above
Which d h ¢ te head A. format, C. insert, D. view,
ich menu do you choose to create header .
913 | . u doyou header and B. view, header lheader and header and
in Office 3657?
footer footer footer
Which of the following function key activates .
o1 | € toffowing function Key activ A.F5 B. F7 C. F9 D. Shift + F7
the speller in Ms Word?
Which of the following is the latest version of .
915 I wing | verst A. Excel 2016 |B. Excel 2017 |C. Excel 2019 |D. Office 365
MS Excel?
916 |What does Ctrl + = key effect? A. Superscript |B. Subscript C. All Caps D. Shadow
To select multiple cells, rows, or columns in a
table that are not adjacent to one another,
917 |select the first cell and then hold down the A. alt B. shift C. enter D. ctrl
key while selecting the next cell,
row, or column.
First Computer for home use was introduced
918 . . . .
in 1981 by which company? A.IBM B. Apple C. Intel D. Dell
Material consisting of text and numbers is best . . . .
919 ! Isting X ! I A. A table slide |B. A bullet slide |C. A title slide |D. All of above
presented as ?
in PowerPoint Special effects used to
. S . B. custom .. D. present
920 |introduce slides in a presentation are A. effects ] . C. transitions . )
animations animations
called ?
B. Right click
L g C. Press and
o A. Clicking and |the chart
To select all of the boxes of an organization ] hgold the
921 . . edit and select |background D. All of above
chart in Ms PowerPoint? . SHIFT key and
all and then click .
click each box
select all

u,.’/@//,f:‘?' L /J’b@UIfﬁuga/"LZ/)’Jl
TestPoint.pk

. C. Aslide
) B. a slide
A. The title master and
master and .
. . . . area and text . title master
922 |What is a slide-title master pair? title master e D. All of above
area of a i for a specific
e merged into a )
specific slide ) . design
single slide
template
in Ms PowerPoint Which option allows you to B. Insert C. Draw D. All of the
923 : ) A. Create effect )
select line, curve, freeform or scribble tools? motion path custom path |above
Which of the following will not advance the B. The space  |C. The enter D. The mouse
94 | ) s A. The esc key
slides in a slide show view? bar key button
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Question

625 Which of the following can you use to add A. Microsoft  |B. Microsoft C. Microsoft D. Microsoft
times to the slides in a presentation? graph Table Excel Word
Which of the following fill effect D. All of the
926 I 0, € ToTowing TIT TTeCts can you tse A. Gradient B. Texture C. Picture
for the slide background? above
Which tab is not availabl left | wh D. All of above
927 ch tab s no ava|.a e.on € parfe when A. Outline B. Slides C. Notes )
you open a presentation in Powerpoint? are available
By default d t print . . .
928 | y cetatilt your document prin A. Landscape |B. Portrait C. Page setup |D. Print view
in mode?
In which graphics, digital photos and scanned C. Both
929 |images are typically stored with extensions A. Bitmap B. Pixels Bitmap and D. Plane
such as.bmp, .png, .jpg, .tif or.gif? Pixels
Which of the following is a popular
930 |programming language for developing A. BASIC B. Assembler |C. Java D. COBOL
multimedia webpages ?
o o ) A. Lower B. Machine C. Machine D. None of
931 | Which is the limitation of high level language? . .
efficiency dependence level coding |the above
Which device of computer operation dispenses . .
932 A k B. Ligh .M D. Touch
with the use of the keyboard? Joystic ght pen C. Mouse ouc
933 | Microsoft was founded in ? A. 1970 B. 1972 C. 1975 D. 1981
I ter, el t which is not t of . .
o3 | | © cc.>mpu ef, element Which 15 not a part © A. Plot area B. Fill handler |C. Series D. Chart area
chartis ?
Main window i t dsheet i C. Account
g5 | o WINGOW N & computer spreadsheet 1s A. Work book |B. Work D. Work sheet
called ? book
What Powgr point featur? will you u'se to A. Slide . . C. Animation |D. Animation
936 |apply motion effects to different objects of a ) B. Slide Design i
. Transtion Objects Scheme
slide ?
037 Macintosh, a personal computer was A Microsoft B. IBM C. Apple D. Dell
developed by ?
C. selectin
A. selecting B. selecting € D. selecting
the text and
the text and the text and ] the text and
938 |You can delete text by ? i ] pressing the )
pressing the pressing the ALT+PAGEUP pressing the
CTRL key DELETE key EXT key
keys
The default style f data keyed i
o39 | ' O€TAY . stylefornew data keyed ina new A. Comma B. Normal C. Currency D. Percent
workbook is ?
H [ Mi ft Excel D. None of
o0 | HOW Many rows are in one Microsoft Exce A. 65,536 B. 16,384 C. 1,048,576
sheet? Above
Which short cut key is used to bring up the
941 . + . + . + . +
“Find and Replace” dialog box in Ms word? A Ctrl +] B. Ctrl + H C.Ctrl+N D. Ctrl + M
With which of the following all f las i
o, | With which of the following all formulas in A/ B, * .4 D. =
excel starts ?
. . . . . . C. Electro
943 |Which technology is used in compact disks? A. Mechanical |B. Electrical ) D. Laser
Magnetic
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r

Minicomputer

Question
A. Medium
|
944 | MSI stands for ? Scale
- Integrated
Circuits
D. The speeds
A. of both these
Minicomputer | C. Speed of
_ _ ) Microcomputer computers
Which of the following statements is true works faster both the
945 o i works faster i cannot be
about Minicomputer and Microcomputer? than computers is
) than compared
Microcompute the same

with the speed
of advanced

A. Computer

B. Computer

C. Computer

D. Computer

946 |CAD stands for ? algorithm for |application in |analogue
- aided design g. pp. . &
design design design
A.
represents raw facts, where- . B. Data, C. Information, |D. Records,
947 ; i Information, . . .
as is data made meaningful? ) information bits bytes
reporting
Which of the following is first ti f
gag |~ o O TNETOTOWINg IS TIFSL BENEration oF 14 ‘\ynivAC ~ |B.IBM-1401  |C. CDC-1604  |D. ICL-2900
computer?
C. J. Presper
Who designed the first electroni ter— |A. Van- B. Joseph M. Eckert and
949 O designe e Tirst electronics computer p D. A” ofabove
ENIAC? Neumann Jacquard John W
Mauchly
A Il or intelligent device i lled C.
950 Sma o.rln e |gen ‘e\{la‘e IS SO Calle A Computer . D. Sensor
because it contains within it a ? Microcomputer|Programmable
A. Random B. Random C. Read only D. Random
951 |RAM stands for ? . .
- origin money |only memory |memory access memory

Data becomes when it is

952 | presented in a format that people can A. processed |B. graphs C. information |D. presentation
understand and use.
A device, which is not connected to CPU, is A. land-line B. On-line C. Off-line .
953 ) ] . D. Device
called as ? device device device
Which one of the following is NOT a computer
954 & PHET A MS-Excel  |B.BASIC C. coBOL D.C++
language?
Servers are computers that provide resources C
955 |to other computers connected to A. network B. mainframe ' D. client
3 5 supercomputer
R bl tical st ill typically have th
o5 | ReUsable optical storage will typically have the A CD 8. DVD C. ROM D. RW
acronym ?
. . . . C. Correct L
057 When a computer is switched on, the booting |A. Integrity B. Power-On Functionin D. Reliability
process performs ? Test Self-Test Test € Test
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Question
C. Trusted
B. Trusted .
employee with
. L employee
The typical computer criminal is A. Young ) a long, but D. Overseas
958 with no
an___? hacker. . unknown young cracker.
criminal o
criminal
record.
record.
What is the name of an application program D. Securit
959 |that gathers user information and sendsitto  |A. A virus B. Spybot C. Logic bomb ' y
patch
someone through the Internet?
computer is small general
960 |purpose micro computer, but larger than A. Hybrid B. Digital C. Desktop D. Laptop

portable computer?

961

VOIP stands for ?

A. Voice over
IP

B. Video over
IP

C. Viruses over
IP

D. Virtual over
IP

Which of the followi handheld A. B. personal
o6 ic 'o e following uses a handhe p C. Laptop D. PDA
operating system? supercomputer [computer
What is th Il f i iti
at |s.t e overa term o.r creatmg.ed}tmg, A. Word B. Spreadsheet . D. Database
963 |formatting, storing, retrieving and printing a ] desi C. Web design ;
text document? processing esign managemen
A. cross- B. 3GL .
A(n) language reflects the way . C. event driven )
964 ) . platform business ) D. functional
people think mathematically. . , programming
programming |programming
The programs which are as permanent as
965 |hardware and stored in ROM is known A. Hardware B. Software C. Firmware D. ROM ware
as ?
ocs |IN Which generation Computers vacuum tube A. First B. Second C. Third D. Fourth
were used? generation |generation generation |generation
A. Page B. Page C. Page D. Page
] o , Orientation Orientation of |Orientation Orientation of
Which of the following is true regarding page
967 | . . can be document must be set a document
Orientation of a Document? ]
changed at determines by |before start cannot be
any time printer typing changed
968 | Operating system is like a ? A. Government B. Police C. Parliament |D. All of above
969 In 1940, first electronic computer was A. Clifford B. George C. Atanasoff |D. John
inventedby_ ? Bery Boole and Berry  |V.Atanasoff
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Question
A. Database |B. Database |C. Database |D. Database
970 |DBMS stands for ? management maintaince |maintaince |management
system system and storage | Sound
" Sure Victory ” is a Sri Lankan counter-
971 |insurgency operations against the Tamil Tigers |A. 1995 B. 1996 C. 1997 D. 1998
in ?
o7 | ShOrteut key to open Font dialog box s A. Ctrl+Shift+D |B. Ctrl+Alt+D |C. Ctrl+D D. Alt+D
A. High- B. High- C. High- D. High-
Definition Density Definition Definition
973 |HDMI stands for . . - . . C
Multimedia |Multichip Multimedia |Multichip
Input Interconnect |Interface Interconnect
A. High B. Heavy C. Heating D. Hard Disk
974 |HDD stands for . . . .
Density Disk |Duty Diesel |Degree Days |Drive
75 | WWord length of a personal computer is A. 4 bits B. 8 bits C. 16 bits D. 64 bits
A. Edward C. Charles D. None of
976 |Who is the father of I ter? B. Allen Turi
7 O IS the Tatner ot personal computer Robert en turing Babbage these
C. Hyperlinks
A. Choose yP
_ o . B. Press Ctrl |can't be
977 | To insert a hyperlink in a slide Insert >> . . D.Botha &b
Hvoerlink + K inserted in
yp slides
978 How many different positions can you set for AT B. 2 C 4 D.6
drop cap?
i A. Press Shift |B. Press Ctrl |C. Press Alt+
979 You can detect spelling and grammar errors by D. Press E7
? +F7 +F7 F7
A. Shut Wave |B. Shock C. Shock D. Shut
980 |SWF stands for ?
Flash Wave Player |Wave Flash |Wave Flash
A. Hyper B. Hyper C. Hyper D. High Text
981 |HTML stands for ? Text Magic  |Text Markup Text Markup [Markup
Line Line Language Language
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Question
A. B. C. D.
International |International International |International
982 |IMEI stands for ? Mobile Mobile Mobile Machine
Equipment |Equipment |Educational |Equipment
Information |Identity ldentity Identity
o83 Which of.the foIIowing_coIor graphics display A HCA B. EGA C. CGA D. VGA
has the highest resolution?
A. Frequent |B. File C. File D. File
984 |FAT stands for ? Allocation Allocated Allocation Allocation
Table Table Table Theory
o5 !n Excel which key is used for format number  |A. ' B. . C Ctrl+1 D. Shift+1
in currency format? Ctrl+Shift+1 | Ctrl+Shift+4
A. Access B. Access C. Access D. Adoptic
986 |ACL stands for ? . . . .
Control List |Central List |Check List Control List
A. Sh C.Sh
- ow B. Find ow D. Lock
987 |Window key + D system Desktop
. Computers Desktop
properties (toggle)
. - : A. .wav files . , e
In Microsoft PowerPoint two kind of sound . B. .wav files |C. .wavfiles |D. ipg files
988 |effects files that can be added to the and .mid i £ o fi £ fi
presentation are? files and .gif files |and .jpg files |and .gif files
All the output which is Printed i D. None of
989 ¢ OUtPUT WRICR IS Frinted on apaperis o soft Copy |B. Hard Copy |C. Both A& B
called ? these
MS-Word automatically moves the text to the .
A.C D.N f th
990 |next line when it reaches the right edge of the arrage B. Enter C. Word Wrap one ot the
. Return above
screen and is called?
i i i A. C.
In MS Word to move the insertion point to the B. CTRL+LEFT D. None of
991 |beginning of the next word command used CTRL+RIGHT CTRL+DOWN
) ARROW these
is ? ARROW ARROW
C. Cut the D. Copy the
Ctrl + X Shortcut is used in Microsoft Word A. Close B. Close Word Py
992 . Selected Selected
to ? Document Application
Contents Contents
A. double click i C. double click
To Open Col dialog b ickly i the space B. double click on the left
(o] en Lolumns aialo ox quic N
993 | P & g y P the right ) D. All of above
Microsoft Word: between area o margin area of
margin in ruler
on ruler ruler
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Question
B. From
A. From Insert |[format menu |C. Click on
) ) ) menu choose |choose bullets |Page Number
In Ms Word, When inserting Page number in
) ) Page Number |and Format tool
994 |footer it appeared 1 but you wish to show a. q " Numberi p if D. All of above
How can you do that? and specify um erllng an s'pea Yy
necessary and configure |required
setting necessary setting
setting
. . B. an entire C. whole D. any of the
995 |Selecting text means, selecting? A. a word
sentence document above
There can be many ways to insert page A. Page B. Footnote C. Page Sety
996 |number in a document. Which of the following |number from |from Insert ' g. P D.Botha &¢c
. . from file menu
lets you insert page number in Ms Word? Insert menu menu
007 Which operation you will perform if you need |A. Copy and B. Paste and C. Cut and D. Paste and
to move a block of text? Paste Cut Paste Delete
igi A.
In Ms Word AutoCorrect was originally . B. Short, . D. None of the
998 |designed to replace words as you | Grammatically . C. Misspelled
. repetitive above
type. incorrect
What is the default font size of a new Word D. None of
999 A. 9 pt B. 12 pt C.14 pt
document based on Normal template? P P P above
1000 What is the function of CTRL+N in Microsoft A. Save B. Open C. New D. Close
Word? Document Document Document Document




